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Introduction


This textbook has been written specifically to meet the needs of students taking OCR A Level and AS Business, which is 40 per cent of a full A Level. It provides a comprehensive coverage of the new specifications and uses a wide range of up-to-date examples. The order of chapters within the book reflects the ‘Unit Content’ of the OCR specification, which is available in hard copy or on the OCR website.


The specification refers to:





•  an increased emphasis on decision making, noting how the size and scope of a business will affect how it operates



•  the synoptic nature of all papers



•  the case studies within the examination papers will be based on real businesses



•  a need to apply mathematical skills in the context of business



•  it is assumed the specification will be co-teachable for AS and A Level.





The actual content of the specification will concentrate on:





•  the objectives of a business and its strategic decisions



•  the external influences facing a business



•  its operational strategy



•  human resources



•  accounting and financial considerations



•  the global environment of business.





These areas are broken down into specific headings and the authors have tried to reflect these within the chapters of the book. However, in an attempt to enhance your understanding, some topics have been amalgamated where it is logical to do so.


Special features


AS and A Level


It is clearly shown which material within this book is for AS level and which is for A Level.


In addition, this book contains several other special features designed to aid your understanding of the concepts and examination techniques required by OCR.


Tips and techniques


All three authors have many years’ experience of teaching for OCR, and use their experience to provide useful advice where appropriate. The advice concentrates on what students should do, and which common candidate mistakes should be avoided.


Your turn


To reflect the new specification, there are multiple-choice questions in the majority of the chapters. Each multiple-choice question will have four responses for you to choose from: A, B, C and D. The multiple-choice questions can be numerate or non-numerate.


Each chapter provides questions for the student (you) to tackle, either in the form of short questions, which are intended for reinforcement and revision purposes, or longer questions requiring more detailed answers.


The teachers’ guide book, which is available separately, provides a mark scheme as a guide to the type of answer that is expected for each question and the amount of detail required (see answer style). Where appropriate, there are more numerical questions than in the previous textbook, in order to cover the new specification requirements.


Case studies


At the end of almost all of the chapters there is a case study, which requires you to apply the concepts you have been taught within the context of a business. The case study will also offer you an opportunity to practise your examination technique. The types of questions are aimed to be similar to those that may appear within the three examination papers. Marks are allocated as a guide and are, where possible, similar to those in the examination papers, as specified within the new specification.


The case studies also meet the requirements as stated within OCR’s introduction to the specifications: ‘The fundamental philosophy of the specifications is that the study of Business requires an integrated approach at all stages of the course.’


For this reason, some of the case studies include a wide range of material. Furthermore, they have been written to support OCR’s requirements.


The specification requires an approach that views business behaviour from a variety of perspectives, namely an integration of the four main areas: marketing, operations management, (production), finance and HRM.


The case studies have also been chosen to try and reflect the range of businesses as stated within the specification; namely:





•  Local businesses



•  National (UK) businesses



•  International businesses (global).





Group tasks


A few of the chapters feature group tasks. These are intended to stimulate debate and encourage you to learn the technique of justifying your view, a skill necessary for evaluation.


Further sources


The majority of the ‘further sources’ are websites for you to view and find additional up-to-date material and examples.


Key terms


These are included as a summary of the key concepts that you will need to know.


The examinations


A Level
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None of the above components are pre-issued.


Unlike any of the previous specifications, it is very important to note that all three examination papers are synoptic; consequently, you will be expected to be able to draw on your knowledge from the whole of the specification for all components.


AS Level
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Examination advice


The ‘Tips and techniques’ feature contains useful hints on certain issues and topics. Remember, the authors are highly experienced teachers. There are several other important factors for you to remember, which apply to all three papers.


For ALL three papers, answering in the context of the case is very important.


Read the case with care to ensure you are familiar with:





•  the type of business (its status, size, place in the market)



•  the product or service



•  the consumers



•  the objectives of the business.





Read the question with care to ensure you have noted the trigger word: state, explain, outline, analyse, evaluate, to what extent. Questions beginning with these words require different types and lengths of answers. Writing too much for a ‘state’ question could lose time and therefore many marks. A ‘state’ question requires you to write perhaps no more than a couple of words, and in some cases just one word.


Mark allocation: noting the number of marks will help you to write an appropriate amount.


Be careful when phrases such as ‘other than’ are used. Many candidates miss the opportunity to gain marks by ignoring this instruction. For example: ‘Other than by taxation, suggest how a business may be affected by the government.’ Any references to taxation will not gain marks!


The quality of language is important. Examiners are aware of the pressure under which students write their answers. Nevertheless, using paragraphs and spelling certain words incorrectly such as ‘business’, ‘interest’ and ‘their’ (belonging to someone), are likely to mean that full marks are not awarded.


Always try to write specific points related to the case, rather than general points, which could apply to any business. In other words, answer in the context of the case.


Answer the actual question, rather than the one you prepared for or hoped would be there.


It is essential that you take careful note of your time allocation. Many of the large mark questions are at the end of the papers. Remember, you must give yourself enough time to read the case properly to ensure that you answer in its context.


Be careful how long you spend on any of the multiple-choice questions.


Ensure you read such questions with great care.


Assessment objectives AO1 –AO4
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Ensuring you reach the highest assessment objectives as quickly as possible will ensure higher marks.


Analysis


There is not a magic number of points that need to be analysed before you have reached AO3. As long as you have shown how a particular point has affected the business or how the business is likely to react, you will gain AO3 marks.


Example


Analyse how a building company will be affected by demographic changes.


Answer


If there were changes in the demographics of a country, this may mean that the building company would have to change the type of housing that it built. As a result the business may have higher costs, as it would need to design different types of houses to meet the changes. As the population increased and there were more elderly people, land would become more expensive and therefore the builder’s costs would rise, which in turn would affect its profits. If it wanted to keep its profits at the previous level, it may have to increase its prices.


This answer shows how the business would be affected and how it would react (including both is not essential; it depends upon the question) and therefore an AO3 mark would be gained.


Evaluation


The key element for evaluative comments is to ensure that you offer a ‘justified judgement’. Questions where evaluation is required are asking you to suggest which factor is:





•  the most important to that particular business



•  most likely to benefit the business



•  most likely to occur



•  likely to damage the business the most.





To be evaluative, you will need to compare and weigh the evidence, having considered the positives and the negatives for the business in the case. It is always advisable to think about a balanced view.


In essence you are answering by making a decision which you justify.


Example


Evaluate how a change in technology could affect the business.


Answer


A change in technology may affect the business in several ways. If the new technology has to be bought in order to remain competitive, then business X will have to find the money and this may lead to an increase in its costs in the short term. However, once the new technology is bought, it may help to give the business a competitive edge and therefore increase its sales and its market share.


Depending upon the type of technology bought, there may be an additional opportunity cost, as employees may be made redundant if the technology requires fewer units of labour. This may mean that in the short term business X will have to pay out a significant amount of money in redundancy payments, reducing its profits for that year. However, in the long term, the technology will bring savings in labour and unit costs, which will yield higher profits in the following years.


In this answer, there is a clear judgement that has been justified and an attempt has been made to consider the short and long term. Consequently, this would gain an AO4 mark (marks for evaluation).


There is an assumption that there would be sufficient context by using references to the name of the business, the product or service involved, direct reference to the specific question, names of people mentioned within the case and any specific external factors affecting the cited business.


However, new to this specification is a change to the marking process.


The assessment objectives will be assessed at different levels. For example:
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Throughout the specification you are expected to be able to evaluate; consequently this is a skill that you will need to practise. The guide above ought to help you see what the examiners are looking for in order to award the higher marks within a question.


Actual content of the specification


The authors have tried to mirror the headings used within the specification to ensure you know exactly what needs to be covered. However, to enhance your understanding we have tried to ensure topics fit in a harmonious manner and can be followed in a logical manner. Where there appears to be any obvious overlap within the specification we have highlighted clearly where such examples are, with marked cross references between relevant chapters.


Within the specification, it states that students will need to be able to evaluate the external influences on:





•  accounting and finance



•  human resource management



•  marketing



•  operations management.





Within separate chapters, the external influences are dealt with in considerable detail and can then be applied to any of the influences listed.


A and AS Level Business: notes for guidance on co-teaching


The following sample curriculum plans for AS and A Level Business are suggested examples of how the course could be taught. The design of the Business AS and A Level specifications mean that effective co-teaching is easily achievable. The new specification has been written so that there is a significant overlap between the content of the AS Business course and Components 1 and 2 of the A Level course. In addition, the assessment for Components 1 and 2 of both the AS and A Level course are similar. There is a greater demand at A Level but, due to the linear design of the course, there is some time to revisit earlier work and focus on the A Level demand in the latter part of the second year. In fact, preparation for the AS level exam is useful in terms of providing the first-year students with an opportunity to build their exam skills. Some centres may decide to enter their candidates for both the AS level and the A Level exams. If this is the case then the AS level exam will become useful practice for the final A Level exams in year 2. There will be an OCR Mock exam service available, which will help with the process of preparing students to practise unseen questions. This will also help teachers to understand the level of demand of both the AS and the A Level exams.


The significant change compared to the previous specification is the fact that the content, as in the case of a real-life business, is completely integrated into the two components at AS level and the three components at A Level. This means that any topic within the specification can be asked in any of the two or three components. The only difference is that for students taking these components to A Level, the demand will be higher in their final exams in year 2. This does mean that co-teaching is made much easier and allows for any number of ways of approaching the teaching of the course, in terms of the order of topics.


Continuity and themes


The key themes of the four business functions of human resources, marketing, finance and production run throughout the AS and the A Level course along with external influences, business objectives and decision making. These key themes can be introduced throughout the AS course and then revisited in a more strategic manner at A Level (notice in the specification how an emphasis is put on the link between the objectives, external influences and strategy, within each functional area). It is also vital that, as Component 1 at both AS and A Level contains multiple-choice questions, students have a sound understanding of basic concepts.


Other than in the methods of assessment (see below) the way in which the components are different is the focus on the market in which the business is operating.


In Component 1, for both the AS and A Level, other than the multiple-choice questions, the focus will be on the business operating in a local or regional market. This may be a small business which only has a local market or one part of a larger national or international business; for example, the actions of one branch, office or store.


In Component 2, for both the AS and A Level, the focus will be on the UK business environment. This may be a UK or non-UK business, but questions will concentrate on that business’s operations ONLY in the UK market.


Component 3 (which only applies to the A Level) sees the global business environment as the focus. Again, this may be a UK or an international firm, but now the wider global activities of the business will be examined. This will also allow more synoptic/strategic questions to be asked.


In ALL components, the businesses will be REAL ones, using case material from sources such as the internet, company reports and newspaper articles.


Assessment


There are a number of different types of skills being assessed through a number of different question styles. Similar to the old specification, the new specification has a higher level of demand in the full A Level. Therefore, the AS level questions can be treated as preparation for the A Level skills.


Component 1 for both the AS and A Level contains multiple-choice and short-answer questions, as well as questions which will allow evaluative skills to be shown.


Component 2 for both the AS and A Level is made up of two sections. Section A contains short, theoretical questions, primarily assessing the knowledge and understanding of key business concepts. Section B will ask questions based on material about a real business provided in a resource booklet. These questions will include both short-answer and longer-answer questions.


Component 3 of the A Level will contain a few short-answer questions, although most marks will be available in three longer questions which will be of a decision making and/or strategic nature.


Sharing teaching within co-teaching centres


Sharing the teaching of the AS and A Level is very easy and there are suggestions of how to do this on the OCR website. The only difference is that if there are two teachers sharing one group, one of the teachers may be more likely to finish teaching the course slightly earlier than the other. This will leave them time to prepare the students for the A Level examinations.
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Sample curriculum plan for AS and A Level OCR Business (one teacher)


Source: OCR website
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Introduction to business


Chapter 1


Enterprise and business functions
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AS/Year 1


Both AS and A Level students must know all of the content in this chapter.
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Enterprise and the entrepreneur


‘Enterprise’ is a word that has two meanings in business studies. Firstly, ‘an enterprise’ is simply another term for ‘a business’ and it is common to read a statement such as ‘Richard Branson’s first enterprise was selling vinyl records’. The second meaning is used to refer to the actions of a risk taker who starts up his or her own business; such an individual is said to be ‘an enterprising person’ and is also referred to as an entrepreneur.


An entrepreneur is more than ‘a businessman’ or ‘a businesswoman’. Essentially, an entrepreneur is ‘a risk taker who sets up a business’. This is not the same as being self-employed.


For example, a person who is a carpenter or a hairdresser may have been made redundant and, not being able to find another job, sets up their own business. Many self-employed people will have had a job working for someone else. They may have become self-employed later in life, rather than earlier, and may not have wanted to. They may not like risk taking and would prefer to have ‘a steady job’ working for someone else.


An entrepreneur is different. An entrepreneur will usually have always wanted to run his or her own business and will be prepared to take risks.


Although the original concept of the entrepreneur was developed in an age when most businesses were small and owned by one person, the term is still in very common use. People such as Richard Branson and James Dyson, who come up with a new business idea or product, are still referred to as entrepreneurs even though the businesses they run are definitely not small.


Entrepreneurs are a very diverse group of people but they share similar characteristics, which are quite different from those of a person who is self-employed. There is nothing ‘wrong’ with being self-employed but the difference between a self-employed person and an entrepreneur is an important one. A self-employed person could be described as being:





•  hardworking



•  competent



•  reliable



•  diligent.





These are certainly important characteristics; however, as well as demonstrating these, entrepreneurs will have certain character traits:


Chris Oakley OBE, from the web design company Chapter Eight gives a lengthy, but detailed, definition of an entrepreneur:




An entrepreneur sees an opportunity which others do not fully recognise, to meet an unsatisfied demand or to radically improve the performance of an existing business. They have unquenchable self-belief that this opportunity can be made real through hard work, commitment and the adaptability to learn the lessons of the market along the way.


They are not diverted or discouraged by scepticism from ‘experts’ or from those from whom they seek backing and support, but willing to weigh all advice and select that which will be helpful. They are prepared not just to work seriously hard but to back their judgment with personal investment at a level which will cause problems if they are wrong about the opportunity. They understand that achievements are the result of team work and know how to choose the necessary blend of talents and inspire them with their vision.
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Figure 1.1 Character traits of an entrepreneur





Successful entrepreneurs can therefore bring a variety of benefits to the business’s stakeholders. If the firm is profitable and growing as a result of the entrepreneur then it is more likely that its stakeholders will be able to reach their objectives (see Chapter 5). For example, more people are likely to be employed and employees will have more secure jobs and the chance of better pay and conditions, suppliers will receive larger and more regular orders, and the firm will pay more tax. A successful business may start to export goods to other countries and so help improve the UK’s trade balance (see Chapter 16). The government will receive more tax revenue from sources such as income tax, corporation tax, national insurance, and VAT if businesses are thriving.


It is for these reasons that the government is very keen to encourage enterprise and entrepreneurship and why a variety of initiatives exist to help would-be and existing, entrepreneurs.


Factors of production


Using resources (inputs) a business can produce the products that consumers want to buy (outputs). These resources are sometimes referred to as the factors of production: land, labour, capital and enterprise. Each of these can be used in various combinations in order to produce goods and services. ‘Land’ is natural resources; not only fields, but what lies below them in terms of minerals, and land also includes what can be grown on it. ‘Labour’ is all of the human resources available (except the entrepreneur) whatever the age and skill of the worker. ‘Capital’, in this context, refers to buildings, machinery and tools rather than money. ‘Enterprise’ is the entrepreneur who organises the other three factors.
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Key term





Factors of production: the inputs that are used in the production of goods or services. They are land, labour, capital, and enterprise.
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For example, bread is produced using the following factors:





•  Land is used to grow the wheat and build the bakery on.



•  Labour is used to plant the wheat, drive the combine harvester and collect the wheat, to operate the ovens, to pack the bread and to deliver it to the shops where it is sold.



•  Capital is a combine harvester used to collect the wheat, ovens and baking trays are used to cook the bread, packaging machines to pack the bread, and vans to deliver it.



•  Enterprise is the entrepreneur, the owner of the farm or the bakery; the person who organises the other factors of production in order to make a profit.





The factors of production are essential inputs for a firm and their availability can affect the business and its stakeholders. If there is a shortage of a particular factor its price will rise. The factor’s price is a cost to the business and any rise in factor costs is not going to be welcome since it potentially reduces profit margins. How might the firm react to a rise in factor costs? Raising prices is one option. The extent of the ability to do this depends on how many competitors there are in the market and the firm’s brand loyalty. Alternatively, the business could try and lower some other costs; it may impose worse terms and conditions on its suppliers in an attempt to do so. If the supplier is a small firm with no market power it may just have to accept the situation. However, if it is a nationwide supplier of a well-known national brand there will be little chance of such an approach succeeding. If the business tries to cut back on non-essential areas of expenditure, the local community may suffer in terms of fewer community initiatives such as sponsorship. The business may well, in fact, adopt a combination of all three approaches. The entrepreneur has to manage and make decisions on these issues.


An entrepreneur also has to make decisions about which factors to use and in what quantities; for example, should a farmer harvest a large field by using ten men with scythes, or one man using a combine harvester? It depends on costs. The combine harvester option sounds cheaper in terms of labour costs, but what about the capital cost? The entrepreneur is usually trying to make a profit and so will make decisions based on factor costs and also the likely payoffs from the risks that must be taken by running the business (see Chapter 9).
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Key term





Value added: what a business achieves by ensuring that the price of the finished good or service is in excess of the cost of the inputs.
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Adding value


Adding value means that a business can sell the product at a price that is higher than the cost of producing it. Any extras that can be added to a product that are priced above the additional cost result in value added (see Chapter 60).


An entrepreneur is concerned with adding value in order to make a profit. Manufacturing raw materials into a product adds value. For example, a piece of wood can be burned and therefore could be sold as a fuel. However, if the wood is cut, made into a toy animal and then painted, its value will be much higher.


Similarly, value can be added by creating an image for a product, making it appear to be more valuable. That is the key function of creating a brand image (see Chapter 57).


Constraints on a business


The entrepreneur also has to decide how best to manage the constraints on a business.


A constraint is a restraining factor on a business: something that limits how a business operates. It often involves a cost that the business will need to pay, either directly or indirectly. If, for example, the government passes a law stating that all employees who work with a certain type of chemical must be trained in a new way of handling and storage then those businesses involved would have to spend money on training and storage facilities. There would also be an additional cost in terms of lost production time while the training takes place and also the management time spent organising it. This cost would either be passed on to the consumer in the form of higher prices or be paid for by the businesses, which would affect the level of their profits.
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Figure 1.2 Constraints on a business





The functions within a business


The organisation of a business is often divided up into several functions or departments. In a large business each function will be staffed by specialists, whereas an entrepreneur starting up and acting on his or her own will have to be a ‘jack of all trades’ in carrying out different business functions





1  Accounting and Finance. This department monitors and controls the business’s financial resources. The department keeps detailed records of all the products that the business has made and sold, the cost of the goods sold, and any tax due as a result of this. It has overall responsibility for ensuring that costs are kept under control and that there are sufficient funds available to pay all the day-to-day running costs of the business. It sets budgets in order to control the business and operates the business’s payroll.



2  Operations management and production. ‘Production’ can be thought of as the process of transforming resource ‘inputs’ into finished ‘outputs’, i.e. the products that the business sells in order to meet the demands of consumers. ‘Operations management’ is a wider term that refers to designing and controlling the process of production to make it as efficient as possible. It therefore encompasses maintenance of capital equipment, stock control, quality control, and managing technological change (see Chapter 21 and 22). In practice the two terms are sometimes used interchangeably – or together, as in ‘Production and Operations Management’ (POM).



3  Marketing and support services. As consumers have greater choice and an ever-increasing ability to purchase goods and services, the role of the marketing department is highly significant. It is the role of marketing to ascertain the needs of consumers by conducting market research and to attempt to satisfy the consumers in order to make a profit. Adding value and ensuring consumers are informed of the product or service in such a manner as to create a desire to buy (and then make repeat purchases) is all part of the task of marketing. Customer service may be considered as part of marketing since the way the product is sold can influence a purchase. This is particularly important when customers make expensive purchases such as a car, for example, and there is a requirement for clear advice on the nature of the product. Once a product has been bought, sales support is also important. It is reassuring for a customer to know that if help is needed with, say, tuning a new television or installing software on a new computer it is available – and this could encourage someone to make a purchase. Indifferent customer service at point of sale and/or sales support that is poor (either because of a lack of product knowledge or because the support is offered via a website that does not work, or a phone line that is always busy) loses the business customers and can attract poor publicity.



4  Human resource management (HRM). Sometimes referred to as personnel, this department is responsible for the wellbeing of the employees. This includes recruitment and training, and, if necessary, terminating employment. How much time and money is devoted to this department often depends on the size of the business. As a business grows, its need for a separate HRM department increases, as there are more employees to look after. Motivating the workforce and ensuring that the business complies with employment legislation is also part of the HRM function.





A business needs to pay careful attention to each function and ensure that all departments work together. There should not be a situation where (say) the production function produces quantities that are not carefully co-ordinated with marketing, since this could result in either disappointed customers or a build-up of unwanted stock. Both instances are damaging financially since the former means revenue is lost and the latter means funds are ‘tied up’ that could be used elsewhere. Where a function is given insufficient attention, or co-ordination between them is poor the business will not be as profitable as it could be and this will impact negatively on its stakeholders.
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Tips and techniques


Unless the question is based upon a specific business function it is wise to consider how a decision made on a particular course of action, such as launching a new product, will affect all four functions, since for the business to reach its goals all areas need to work together. A knowledge and understanding of the role of the four business functions will be important in constructing an analytical and evaluative answer.
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Further sources




www.gov.uk/government/organisations/department-for-business-innovation-skills


www.greatbusiness.gov.uk


Both of these websites offer information on the assistance available from the government for new and existing businesses.
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Your turn


Questions in red are for A Level candidates only.


Multiple-choice questions





1  Which of the following is a correct statement?







    A  An entrepreneur runs a profitable business.


    B  An entrepreneur can see an opportunity that others cannot.


    C  An entrepreneur is not happy with risk.


    D  An entrepreneur does not take advice from others.


(1)








2  Which of the following is not a factor of production?







    A  enterprise


    B  land


    C  labour


    D  money.


(1)








3  Which of the following best describes the term ‘value added’?







    A  the value of output


    B  the difference between the value of output and the value of input


    C  the cost of the factors of production


    D  the revenue the business gets from the sale of a product.


(1)








4  Which of the following is not one of the functional areas of a business?







    A  finance


    B  marketing


    C  production


    D  the economy.


(1)





Revision questions





1  State the two meanings of the term ‘enterprise’.


(2)



2  Identify three likely characteristics of an entrepreneur.


(3)



3  Analyse two reasons why the government is keen to encourage enterprise and entrepreneurship.


(4)








4A State what is meant by ‘a constraint’ on a business.


(1)



4B Identify two likely constraints on a business.


(2)








5  As a product passes through different businesses, value is added to a product.
Calculate the value added by the activities of turning timber into wood pulp and the total value of output. Show your working.


(4)
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    Total


(16)





Group task


In groups of two, you are required to make a 5–10 minute presentation on an entrepreneur. Select an entrepreneur and explain that person’s achievements in terms of businesses that have been created, consider the entrepreneur’s personal characteristics and evaluate why he or she has succeeded.


Case study
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Specsavers Optical Group Ltd (better known as simply ‘Specsavers’) is a high street opticians, selling spectacles, contact lenses and hearing aids. The business was launched in 1984 by husband and wife team Doug and Mary Perkins in Guernsey. Now the group has over 1500 branches and employs around 25,000 people. Specsavers operates in Europe and has recently opened branches in Australia and New Zealand. It controls 42 per cent of the UK opticians market and had a turnover of £1.7 billion in 2012.


Specsavers is clearly a vast business. Yet it retains the feel of being a family firm, and this is one of its strengths. Dame Mary Perkins gives a sense that she is deeply involved in the company, and deeply interested in its operations on the ground. ‘I never lose sight of the customers. We wouldn’t have a business if it wasn’t for them, so they… are my best friends, the most important people in my life.’


Among the many awards won by Specsavers since 1984 is being voted most trusted optician by British consumers for 10 years in a row.


After its slow first year, Specsavers has achieved growth year after year. It has never closed a store, and has no loans or outside investment. This is nothing to do with luck or timing, asserts Dame Mary Perkins, but the result of ‘careful appraisal of everything’.


Specsavers rigorously researches aspects such as locations and partners, and its senior management style seems to be micromanagement in the best sense, with headquarters closely involved with the day-to-day running of each store. ‘We have a close working relationship with all the stores, and we’re very hands-on with them,’ explains Perkins. ‘We don’t just give a manual and say this is how you do it. A board member will meet with all the opticians in every country every eight weeks. We sit down for the day and ask what’s been happening, and whether something’s worked … It’s not all done from behind a desk, we’re very much involved at the sharp end.’


The optician chain’s joint venture structure, whereby each partner (the optician in charge of the management of the store) has a 50 per cent stake in his or her store, offers partners a long-term incentive to perform well and grow. This structure, points out Perkins, offers greater rewards and motivation to each partner than a franchising arrangement. It’s an excellent formula for growing a company and getting staff to buy into its vision.


The joint venture arrangement encourages opticians to nurture their own patch. Perkins explains: ‘Reputation is ever more important with the new media around. Companies should stay close to their customers and be part of their communities.’ It’s an interesting paradox that in the days of global online purchasing, local engagement and individual customer care are more important for retailers than ever. A small local problem or small group of disgruntled customers can quickly become a national or even international story.


Perkins warns that the internet has also changed customer expectations, and the difficult economic landscape has exacerbated this. ‘Customers are searching for more value – for more for less.


They’re more demanding, and more knowledgeable, using the internet to find out things for themselves, and they want better service. So they need to be told why they should spend money with you.’


One of the challenges for Specsavers has been to keep growth at a steady and manageable rate. A common cause of failure, advises Perkins, is ‘trying to run before walking, trying to get big in a hurry – there’s no need to do that’. She warns against being too thinly spread, and of losing your culture, vision and values when you expand into other markets.





1  State two reasons why Mary Perkins could be considered as ‘an entrepreneur’.


(2)



2  Specsavers controls 42 per cent of the UK opticians market and had a turnover of £1.7bn in 2012. Calculate the total value of turnover in the market for 2012.


(2)



3  Analyse two likely issues that Doug and Mary Perkins would have needed to consider before deciding to try to become entrepreneurs in the opticians market in the UK.


(6)



4  Evaluate the reasons why Mary and Doug Perkins have succeeded as entrepreneurs.


(15)







    Total


(25)
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Chapter 2


Business sectors and types of business
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AS/Year 1


Both AS and A Level students must know all of the content in this chapter.
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It is important to recognise that businesses are not all the same; they vary in size, by the sector they operate in, and by the legal structure they possess. In addition, just as a market can be local, national, or international this is also the case with a business. It is unlikely that a small firm will have branches in other countries (although it may still sell products abroad) but many public limited companies (PLCs) have operations in other countries as well as nationally in the UK. These businesses are known as ‘multinationals’.


Different stages of production


As products are made, they pass through the chain of production. For example, production of petrol starts with the extraction of crude oil from the ground; next the oil is refined and then the petrol is distributed to garages, where it is sold to the final consumer. In some industries, one firm is involved in all stages of the chain, as shown in Figure 2.1.
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Key term





Chain of production: stages that a product passes through until it reaches the final consumer.
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In other industries, the businesses involved at each stage of the chain are different. This textbook started out as part of a tree that was grown by one firm and possibly cut down by another. It was probably turned into wood pulp and then paper by another quite separate business. The paper was then printed with the text, which someone else had written, and made into a book, before being distributed (by yet another business) to a retailer where it was finally purchased by the consumer.


It does not matter whether one business or many are involved in the chain of production. What is important to note is that, as a product passes along the chain, it has value added to it – in other words, it becomes worth more because of the business activity at each stage of the chain (see Chapter 60).


Business activity


This can be classified by the nature of output into three broad sectors.





1  Primary sector. Businesses in the primary sector are concerned with the extractive industries. These include farming, forestry, fishing and mining, as well as oil and gas extraction.



2  Secondary sector. Businesses in the secondary sector are concerned with manufacturing — that is, turning raw materials into semi-finished and finished products. The pressing of steel into a chassis, the production of an engine and then the final assembly of components into a complete car are examples of business activity in this sector. Secondary production also includes the construction industry — building houses, factories, office blocks and roads.



3  Tertiary sector. Businesses in the tertiary sector are concerned with the output of services; and services still count as production even if there is no actual finished product to see. They include a wide range of tertiary activities from retailing, banking and transportation, through the many services provided by the leisure industries, to the kinds of service provided by professionals such as teachers and doctors.
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Figure 2.1 Most petrol companies own their own oil fields, refineries and garages





Figure 2.2 shows the proportions of each sector in the output of the UK.
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Figure 2.2 The composition of output in the UK





Different surveys measure GDP data in slightly different ways but it is clear how output is divided. The tertiary sector is by far the largest. This accounts for nearly 80 per cent of total output in the UK. The secondary sector accounts for around 14 per cent, while primary output is around 6 per cent of total GDP. A large tertiary sector is one of the features of an advanced economy. The decline in the level of secondary output and employment typical of advanced economies is referred to as deindustrialisation.
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Key term





Deindustrialisation: the decline in the size of the secondary sector of the economy.
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Structure of the economy


The structure of the economy and what businesses produce is important. Manufacturing does matter. The UK produces and exports high-value products especially in areas such as engineering, machine tools, electrical components, nuclear reactor components and aircraft. Chemical engineering and pharmaceuticals are also strong in the UK. If manufacturing is thriving then there is likely to be a positive effect on the other two sectors as well, since there will be a need for more raw material inputs and services to support the business. Furthermore, the UK needs a successful manufacturing sector to generate the export earnings.


Types of business


Businesses can also be classified by whether they are in the private sector or the public sector (see Figure 2.3). In the private sector, businesses are owned and run by individuals. These are referred to as ‘private enterprise’. In the public sector, there are not many ‘businesses’ in the usual sense of the word. The term ‘organisation’ is more appropriate. In this sector, organisations are referred to as ‘public enterprise’ and are owned and run on behalf of the public by central or local government. Examples are the British Broadcasting Corporation (BBC), The National Nuclear Laboratory (NNL) and the National Health Service (NHS). At local level, libraries and (some) leisure centres are government owned.
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Key terms





Private sector: businesses owned and run by private individuals — usually for profit.



Public sector: businesses and organisations owned and run by local or central government, whose objective is to provide a service rather than make a profit.
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Figure 2.3 The private and public sectors





Businesses in the private sector


The legal structure of a business is important because of the ways in which it influences the firm’s operation. Legal structure is particularly important for the effects that it has on:





•  ownership and control of the business



•  responsibility for any debts



•  sources of finance available



•  the objectives pursued.





Sole trader


The sole trader (also known as the ‘sole proprietor’) is the simplest form of business organisation. The sole trader owns the business and makes all the decisions affecting it. This does not mean that the business has only one person working there; the sole trader could employ a number of people, but he or she is in overall control. The most important legal aspect of being a sole trader is that, as far as the law is concerned, the business and its owner are inseparable. The business does not exist in its own right — it is said to be ‘unincorporated’.


Advantages of being a sole trader





•  There are few legal requirements when setting up as a sole trader, although some businesses may need a licence (e.g. to sell alcohol). It is therefore possible to start a business quite quickly and with relatively little capital.



•  The sole trader does not have to consult with anyone and therefore making decisions (e.g. over the products on sale and the hours that the business will open) is quick and easy.



•  A sole trader keeps all the profit (after tax).



•  As a sole trader cannot issue shares, he or she cannot be subject to a ‘takeover’ in the way that a public company can.



•  Apart from having to provide information for income tax purposes, the financial state of the business can be kept private. This is not the case with a company, which has to publish its accounts.





Disadvantages of being a sole trader





•  The sole trader is ‘the business’ and is fully responsible for all its debts. If the business runs into financial difficulty, the sole trader may be forced to sell his or her personal possessions (e.g. house or car) to pay the debts. This is known as unlimited liability.



•  Sole traders have to be a ‘jack of all trades’; they must single-handedly perform all the business’s functions, such as marketing the products, controlling finance and motivating employees. No matter how talented a person is, it is unlikely that he or she will be good at, or enjoy, all of these. Unfortunately, if any one of these is neglected or performed badly, the business is going to suffer.



•  Successful businesses often want to grow. It can be hard to raise capital for expansion, because a small business is seen as risky, which can limit the opportunities for growth.



•  Sole traders can easily get overworked. This is especially true in the first years of the business’s existence when the sole trader is likely to be working long hours to build up the customer base and reputation.



•  Sole traders are usually small businesses. Larger firms may not wish to deal with them because they may feel that they do not have the expertise or ability to ‘deliver’ in the way that a larger business could.



•  Since the sole trader legally is the business itself, if he or she dies, then the business comes to an end. There is no continuity.





Partnership
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Dentists often form a partnership





Whenever two or more people run a business together, as far as the law is concerned, they are partners. There does not have to be any formal documentation for a partnership to come into existence. Partnerships are common in the professions, among, for example, solicitors, accountants and dentists.


Just as is the case with a sole trader, a partnership is not a legal entity in its own right. The partners are ‘the business’. The law requires a minimum of two and a maximum of 20 partners.


It is good business practice for partners to draw up a Deed of Partnership. This is a legal document that governs the running of this type of business. It sets out and clarifies matters such as:





•  how much money each partner is expected to contribute



•  how much income each partner can draw (i.e. take) from the business



•  the responsibilities and duties of each partner



•  the arrangements to cover absence, sickness or holidays



•  how decisions are to be made within the partnership



•  the arrangements for taking on new partners



•  the arrangements if the partnership is to be dissolved



•  the arrangements for finance (e.g. will partners have separate or joint accounts?).





If no deed exists, the business will be governed by the Partnership Act of 1890, which states that the responsibility for running the business and the distribution of profits and losses are to be shared equally among the partners.


Advantages of partnerships





•  A partnership is easy to establish.



•  Additional partners mean there will be more capital. Expansion is therefore likely to be easier than it is for a sole trader.



•  Work is shared and different partners with different skills can be employed.



•  Partners can specialise in what they do best.



•  Losses are shared.



•  Partnerships, like sole traders, pay income tax, which means that the financial state of the business can be kept private.





Disadvantages of partnerships





•  Partners, like sole traders, have unlimited liability. Furthermore, an individual partner is liable for any debts incurred by other partners even if he or she had no knowledge of the decisions that led to them. Partners may have limited liability if they simply contribute money and take no active part in running the business. These people are known as ‘sleeping’ partners. However, a partnership must have at least one partner with unlimited liability.



•  Decision making is slower and there is the possibility of disagreement.



•  The legal restriction on the maximum number of partners means that the business can still lack capital for expansion.



•  Losses are shared but so are profits.



•  In law, a partnership can be automatically ended with the departure, resignation, or death of one partner. For this reason, partners should make provision by having a written agreement about what will occur if this happens; perhaps agreeing that a new partner can be taken on, or that the existing partners will convert the business to a company.





Limited liability partnerships (LLPs)


LLPs became legal in 2001. They combine some features of partnerships with some of those of limited companies. An LLP is a separate legal entity, so its owners have limited liability. The owners of an LLP are called members rather than partners.


Before 2001, if a group of people wanted limited liability (see page 11) they had to form a company. The creation of LLPs means that it is possible to have the advantages of a partnership combined with limited liability. However, this limited liability comes at a price: LLPs, like private limited companies, are required to file their annual accounts at Companies House. Their accounts are therefore available publicly for competitors to view.


Limited company


There are a number of important differences between companies and other types of business organisation:





1  Incorporation. In law, sole traders and partnerships are unincorporated — that is, they do not exist separately from their owners. A company, on the other hand, is ‘incorporated’ — the business exists in its own right. Those who own the company (the shareholders) are not the same as those who run it for them (the directors).



2  Shares. Companies can raise capital via the issue of shares, whereas sole traders and partnerships cannot. A ‘share’ is exactly what the term implies: buyers own a share of the company. They become one of its owners. Companies issue shares to raise money. Investors buy shares with two aims in mind: receiving a return on their money (which is known as a dividend) and making a capital gain — selling their shares for a higher price than they bought them at. The issue of shares is covered in Chapter 40.



3  Limited liability. If a company goes into liquidation (has to cease trading) because of financial problems, its shareholders have limited liability. This means that the shareholders only lose their shares. This could mean the loss of a significant sum of money, but at least shareholders are not personally liable for the business’s debts in the way that sole traders and partners are. The shareholders’ liability is limited to the capital they have invested.





Private and public limited companies


There are two types of company: the private limited company and the public limited company. Private companies are often, but not necessarily, family businesses, where the advantages of being incorporated can be linked to the ability to keep control within a fairly small group of people.


It is usually the case that sole traders and partnerships operate in local markets because of their size and ability to supply. A private limited company may operate nationally, and a public company will operate nationally and often in international markets as well. If this is the case it is known as a ‘multinational’. A small business may, of course, sell products abroad but this does not make it a multinational; a multinational actually produces in the foreign market rather than simply exporting to it.


Public companies are larger than private companies. Other differences are as follows:





•  The name. A public company is a ‘plc’. A private company’s name must end with ‘Limited’ or ‘Ltd’. Virgin Atlantic Ltd is an example of a private company even though it is part of the larger Virgin Group.



•  Where shares can be traded. A plc can sell shares on the stock market. A private company cannot. A public company’s shares can therefore be bought by anyone. In a private limited company, shares must be sold through private negotiation and cannot be advertised for sale to the public.



•  The possibility of being taken over. As a plc’s shares are available for anyone to buy, it can be quite legally taken over if an investor gains 51 per cent of its shares. A private company can ‘sell out’ to an investor but cannot involuntarily be taken over.



•  The amount of share capital. A plc is required to have a minimum share capital of £50,000. A private company has no minimum.



•  The way the company reports to shareholders. A plc is required to include more detail in its annual publication to shareholders (the ‘Report and Accounts’). In a private company, reporting to shareholders and the accounting procedures that the company has to use are less complicated.





Private and public companies have a number of similarities too:





•  Directors. Shareholders elect a board (a group) of directors to run the company on their behalf. In a private company, the directors may be the shareholders.



•  Information. Shareholders must receive a copy of the company’s Report and Accounts every year. They are also entitled to attend the annual general meeting (AGM). At this meeting, they receive a report from the directors on the state of the company. This includes information on the company’s finances. The shareholders are entitled to vote at meetings (e.g. in the election of directors) and to question the directors about the way the company is being run.



•  Voting. Voting by shareholders is ‘one vote per share’, not ‘one person, one vote’. This means that an individual or a relatively small group of people can own enough shares to outvote all the others. Theoretically, to do this a person or group would need 51 per cent of the shares, but AGMs are often poorly attended and so it is possible to influence the business’s decisions with a smaller percentage.
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Smaller, family businesses tend to operate as a private rather than a public limited company





Advantages of companies





•  The main advantage of a company is its access to large amounts of capital through the ability to issue shares. This means that there are greater opportunities for growth.



•  Limited liability for shareholders encourages people to invest in the company.



•  Investors such as banks often regard companies as less risky than a sole trader or partnerships. This could mean better terms for borrowing money.



•  Continuity: a company is a separate legal entity and so does not come to an end when the original owner(s) die. Unless a company has severe financial problems, it can exist forever.
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Tips and techniques


The legal structure of companies is different from that of sole traders and partnerships. This has important implications for how they raise finance, how they are run and how they report to stakeholders. It is therefore a mistake to refer to every business as ‘a company’.
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Disadvantages of companies





•  Setting up a company can be expensive. In order for a business to be established as a company, two important legal documents need to be completed to protect the interests of shareholders. These are known as the Memorandum of Association and the Articles of Association.



•  The Memorandum deals with the company’s relationship with the outside world (whether it will be a private or a public company, the nature of the products it will sell, etc.). The Articles deal with the internal running of the company (e.g. arrangements for the election and removal of directors). Completing these documents to the required standard means that establishing a company can be slower, more complicated and therefore more expensive than setting up as a sole trader or partnership.



•  Running a company is more complicated than being a sole trader or partnership. Directors have certain legal responsibilities to the shareholders (e.g. holding the AGM, preparing the accounts in a certain way and publishing the Report and Accounts). This added complexity may mean that the company has to hire an accountant and a lawyer, which will be additional expense.



•  Company accounts are not private. All company accounts, whether they are public limited companies or private limited companies, are on open access at Companies House. It is therefore difficult to keep the business’s main financial details hidden from competitors.



•  The danger of a takeover: in the case of a public company, the original owners could lose control if large blocks of shares are bought up by other investors. If the takeover is successful the company will usually continue to exist as an independent legal entity controlled by the acquirer. A takeover might go smoothly because the shareholders of both companies consider it to be beneficial. On the other hand, it may be resisted and so be regarded as ‘hostile’. This is different from a merger, which is where two companies join together to form a new, larger business.



•  Large companies can require complicated management structures. The more people there are to manage, the more difficult communication and co-ordination become.
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Key term





Companies House: All UK companies must be registered. They must also submit details about themselves such as the identity of the directors, the number of shares and the latest ‘Report and Accounts’ every year. This is where these details are on open access to the public.





[image: ]







[image: ]


Tips and techniques


Remember that in law a company is a separate entity from its owners. This has implications for the way it raises capital and how it reports to its shareholders.
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Public sector


At central government level, money that has been raised through taxation is spent on essential services such as healthcare, education and pensions. At local government level, a range of services, including street lighting, the fire service, and refuse and recycling collection, must be provided for all residents. In addition to these, councils also provide libraries, parks and leisure centres.


The nature of the services being provided by public sector organisations means that their objectives are different from those of businesses in the private sector. The National Health Service is clearly not a ‘business’ in the usual sense of the word and is not expected to make a profit. The priority of most of the public sector is to provide a value-for-money service.


However, there are likely to be certain similarities between an organisation in the private sector and one in the public sector: NHS managers may not have ‘customers’ in the sense that a business in the private sector has, but they are still expected to provide the highest quality of service possible. They are also expected to keep tight control on finances so as to eliminate wastage of scarce funds.
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The fire service is financed by taxes paid to local government
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Tips and techniques


Do not confuse the term ‘public sector’ with ‘public company’. A public company is not the same as ‘public enterprise’.
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Third sector


A ‘third sector organisation’ (TSO) is one that is neither in the public sector nor private sector in the usual sense of the term. TSOs include charities, community groups, faith groups, self-help groups, social enterprises, and co-operatives. TSOs are motivated by the desire to achieve social goals (e.g. improving housing, the environment, helping people with social problems, or trying to reduce poverty) rather than the desire to maximise profit. A profit may be made (and indeed may be an important objective) but a key feature of a third sector business is that this profit is reinvested in order to improve the service being provided, rather than distributing it to shareholders.


TSOs can have a number of legal forms; a TSO is not a separate legal entity in itself. Some are just associations of people with shared values and objectives. Some operate as a company but with a not-for-personal-profit approach such as charities or co-operatives (see Chapter 3).
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Tips and techniques


You could be asked to form a judgement on the most appropriate legal structure for a particular business, so it is essential that you understand the implications of each type. Remember also that an individual business is always referred to as ‘it’ not ‘they’.
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Further sources





www.companieshouse.gov.uk: All companies must be registered. They must also submit details about themselves such as The Report and Accounts every year. This is where these details are on open access to the public.



www.thirdsector.net: News and information about the third sector and the jobs available in it.
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Your turn


Questions are suitable for all AS and A Level candidates.


Multiple-choice questions





1  Which of the following must have unlimited liability?







    A  sole trader


    B  private company


    C  public company


    D  business in the Third Sector.


(1)








2  Which type of business does not have continuity?







    A  private company


    B  public company


    C  sole trader


    D  any business in the public sector.


(1)








3  A public sector business:







    A  has to publish an Annual Report and Accounts


    B  is owned by central or local government


    C  will have a large number of shareholders.


    D  is likely to try to maximise profit levels.


(1)








4  With regard to a company, which of the following is not true?







    A  Shareholders have one vote per share.


    B  Shareholders have to attend an annual general meeting.


    C  The company is a separate legal entity from its owners.


    D  Company accounts are on open access to the public.


(1)





Revision questions





1A Identify the three sectors of economic activity.


(3)



1B State an example of business activity in each sector.


(3)








2  Explain the difference between the private sector and the public sector.


(4)



3  Explain the difference between ‘unlimited liability’ and ‘limited liability’.


(4)








4A State two advantages of operating a business as a sole trader.


(2)



4B State two disadvantages of operating a business as a sole trader.


(2)



5A State two advantages of operating a business as a partnership.


(2)



5B State two disadvantages of operating a business as a partnership.


(2)







    Total





(22)


Case study


Pfizer and AstraZeneca


Until April 2014 you might have been forgiven for thinking that AstraZeneca (AZ) was a fading rock star from the 1970s. In fact, AstraZeneca is one of the UK’s largest plc’s; a multinational pharmaceutical company employing almost 7000 people. It has sites all over the country including ones for research and development, manufacturing and supply, sales and marketing, an environmental research facility and the head office in London. The company’s website states ‘Our focus is on developing new medicines to make a meaningful difference to patients’ lives - and the UK is right at the heart of our efforts to do that.’


In April 2014 AZ was the subject of a takeover bid from Pfizer. If AZ is big, the American-based Pfizer is colossal. Why was this a major news item for weeks? After all, takeovers happen all the time. The issues focused on the motives of Pfizer and the likely consequences, not just for AZ, and its stakeholders but for the UK as a whole.


In the end, the takeover did not take place but if it had it would have been the largest in UK history; being worth around £69 billion. Shareholders would certainly have seen a premium on the value of their shares. Before Pfizer made its move, the company’s share price was £37 a share. Pfizer indicated it would pay as much as £55.


The directors of AZ each owned around 300,000 shares and would have stood to share a figure in the region of £60 million. Pfizer made several bids for the shares, upping the amount several times. Why? There was some logic to the argument in favour of a takeover; Pfizer produces drugs to treat cancer and so do AZ – who have conducted a good deal of research and development in this area. There are also arguments in terms of cost advantages arising from economies of scale.


Others, at the time, were much less charitable and have said it was all about tax reduction. The likelihood was said to be that after the takeover a new company would be created in the UK, meaning the company’s non-US profits would not be subject to US taxes – which are higher than those in the UK.


If the commercial logic was debatable, the consequences for AZ’s operations and its employees could be questioned. There was concern that instead of ‘sharing knowledge’ the fact that there would be duplications of some company functions would mean closures and redundancies. The Chief Executive of Pfizer himself admitted this. AZ’s trade unions were especially unhappy about the proposal, claiming that Pfizer has a history of takeovers and closures. These closures would have been significant, and not just for employees, because AZ is a leading company in its field with a worldwide reputation for developing and selling innovative pharmaceutical products especially those that treat cancer. AZ’s Chief Executive went so far as to express concern that lives may be at risk if research into certain treatments are delayed or abandoned because of cost-cutting caused by Pfizer.


AZ’s operations and investments create linkages with other UK firms in this fast-moving market. If the plants and research facilities are shut down, the UK as a whole loses out in one of the areas it has a competitive advantage. AZ’s exports account for 2.3 per cent of the UKs total exports.


The takeover was eventually abandoned when AstraZeneca rejected Pfizer’s £69 billion takeover approach, saying the bid undervalued the company and posed too many risks. AZ’s shares tumbled 13 per cent to £42.04 on the news, wiping about £8 billion off the company’s market value. However, perhaps the Pfizer takeover attempt has been a belated wake-up call. It fuelled wider debate about the whole nature of the ownership of public companies and how short term their focus often is – on profit.





1  AZ is a public limited company. Outline two differences between a private limited company and a public limited company.


(4)



2  AZ was subject to a takeover bid. Outline the difference between a takeover and a merger.


(4)



3  Other than the possibility of a takeover, analyse one disadvantage to AZ of operating as a public limited company.


(4)








4A When the bid was abandoned, AstraZeneca’s shares tumbled 13 per cent to £42.04. Calculate the figure for Astra Zeneca’s share price before the 13 per cent fall.


(3)



4B Analyse how the ‘tumble in the share price’ might affect one of its stakeholders.


(4)








5  To what extent could the stakeholders of AZ have benefited from the takeover by Pfizer? Justify your view.


(15)







    Total





(34)
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Chapter 3


Franchises and co-operatives
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Year 2


A Level students must know all of the content in this chapter.


This chapter is not applicable for AS students.
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Franchises


A franchise is where a business with a well-known brand name (the franchiser) lets a person (the franchisee) or a group of people set up their own business using that brand. This is in exchange for an initial fee and continuing royalty payments (a certain percentage of turnover or profit) for as long as the franchise lasts.


A franchise is not a type of legal structure in itself. The liability for the person (or people) using the franchise depends on how the business is established. A franchisee can choose which legal structure to adopt, although the franchiser may recommend a particular type. Franchisees have unlimited liability if they are in business as a sole trader or a partnership, but have limited liability if they have set up the franchise as a company (see Chapter 2).


Franchisers can now be found in most sectors of the economy and quite a few of the best-known brand names operate some, or all, of their businesses as a franchise. McDonald’s and Burger King are well-known examples of franchises in the fast-food market, as is the Body Shop in the cosmetics market.
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Key term





Franchise: a business with a well-known brand name (the franchiser) lets a person (the franchisee) or a group of people set up their own business using that brand.
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Advantages for the franchiser





•  The firm does not have to spend large amounts of money (possibly getting into debt) in order to expand.



•  The products necessary for the franchise to operate are under the franchiser’s direct control. This can mean that franchisees are charged high prices for supplies.



•  Applicants are carefully selected for their suitability to become franchisees. Issuing franchises should therefore generate a continuous stream of revenue from franchisees who are determined to make their business succeed.
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Many of the UK’s well-known businesses are franchises





Disadvantages for the franchiser





•  Control issues. The control the franchiser has over the product is not as great as it would be if the business sold the product itself. Time has to be spent ensuring than franchisees are following procedures properly. Bad publicity from ‘a rogue franchisee’ could affect the brand image.



•  The cost of supporting franchisees. One of the selling points of a franchise is that ongoing support, training, market research and product development are available to a franchisee. There are considerable costs to be incurred if these are to be provided. The support network has to grow as the franchise grows.



•  The possibility of conflict. If there is a disagreement between franchiser and franchisee it may get quite acrimonious. If a product fails to sell, a franchisee may blame the franchiser and may claim that inadequate marketing support or product training was given. This could lead to court action. There is also the chance that if a franchise closes down and the franchiser is seen as the problem, the franchisee may decide to disclose confidential information to others as a means of ‘getting even’.





Should a business franchise its brand?


Whether a business feels that it is worth franchising its brand depends on its managers’ attitude to such factors. There is also the initial cost of setting up the whole network and the risk that it may initially fail if the wrong locations and/or franchisees are chosen. A long-term view may need to be taken; franchising a brand is not a ‘get rich quick’ scheme. This means that the business’s stakeholders are unlikely to see huge benefits immediately – and if the franchises perform poorly, for whatever reason, they may suffer as well. The loss of control issue may be a particularly important one for senior managers who may prefer to keep business decisions highly centralised.


Whether a franchise is an appropriate choice for someone wanting to start their own business depends on factors such as how much time and money they are prepared to invest in the business, the desired rewards, and their attitude to risk.


Advantages for the franchisee





•  The franchisee is using a tried-and-tested brand name, so there is a greater chance of success than if they had gone into the same sort of business with their own brand.



•  Specialist advice and training are available from the franchiser on an ongoing basis.



•  The franchiser carries out market research and provides marketing support. Thus franchisees can spend more time actually selling products and making a profit for themselves.



•  It may be easier to obtain a loan from a bank because of the factors mentioned above.





Disadvantages for the franchisee





•  Supplies have to be bought from the franchiser, which may charge higher prices than those for similar products on the open market. This will lower profit margins.



•  There will be continuing royalty payments (a certain percentage of turnover or profit) to the franchiser.



•  The franchisee has less control over what it is selling, and how it sells it, than a person running their own business would usually have.



•  The business cannot be sold without the franchiser’s permission.



•  A franchise is for a fixed period of time and is not automatically renewed.





Co-operatives


The Co-operative movement


The term ‘stakeholder’ might be a relatively modern one, but the concept of stakeholding is not. One business that has been applying it for over 150 years is the Co-operative movement. This began in Rochdale in 1844 when a group of workers who were fed up with poor-quality products and high prices set up their own grocery business. It was to be a ‘co-operative business’; that is, one that existed for the benefit of its users rather than some distant and uncaring owner. The co-operative idea was a great success and The Co-operative Group (‘The Co-op’) went on to employ over 60,000 people and now operates in many different business areas, including retailing, wholesaling, travel, funerals, insurance and banking. Strict ethical principles upholding the ‘stakeholder approach’ have been applied in every area of operation. It has around six million members who receive a share of the profits that they help to create, based on how much they spend with any of its businesses in a particular year.


The group’s website makes its approach clear under the heading ‘Championing a new way of doing business for you and your communities’:




Better way of doing business – we need to be commercially successful, building a sustainable way of doing business that is mutually beneficial, recycling our success into strengthening communities. Continuing our ongoing commitment to ethical values and sourcing


For You – immediate and tangible benefits for our members and customers who are not yet members. Functional benefits – better prices; great quality; right location; excellent customer service; emotional benefit – feels good and feels right


Your Communities – enabling and strengthening communities, being locally relevant and reinforcing reasons why members and customers should be loyal to us


Source: http://www.co-operative.coop/corporate/aboutus/ourvisionandaims/





In theory, all stakeholders should get a better deal with this business model because the concern of those running it is not narrowly focused purely (or mostly) on the organisation’s shareholders. Stakeholder conflict is not eliminated but hopefully it is minimised; all of those involved can benefit.


In 2013, however, it became clear that ‘The Co-op’ was in serious trouble. The Co-operative Bank, once upheld as an outstanding example of the stakeholder approach to operating a business had run into trouble following its merger with the Britannia Building Society. It had to be bailed out by hedge fund companies (companies whose aim is solely to make a short-term profit and who do not focus on ethical standards). This was a humiliation given the ethical heritage of the organisation. Worse was to come when its former chairman, the Reverend Paul Flowers, was charged with possession of illegal class A drugs.
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Key term





Co-operative: a business that is owned and run by its members (employees and customers). Profits are shared between members rather than being distributed to shareholders.
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Tips and techniques


Remember that co-operatives can take many different forms. Do not assume that any ‘co-operative business’ is the same organisation as ‘The Co-op’.
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The problems with the Co-operative bank in 2013 caused a major crisis for the whole Co-operative Group





However, it was not only the banking arm of the Co-operative Group that was in difficulty. A report in 2014 by Lord Myners, a former Co-op Board member said that the whole board was ‘dysfunctional’ and should be more concerned with making a profit. This led to outrage among some members who were implacably opposed to running The Co-op as if it were just another plc. Questions were raised about whether those running The Co-op had the necessary ideals, qualifications, experience, and skills. A debate began about the extent to which a business in the modern world can actually truly be ethical if it is to succeed. It was eventually agreed that there would be a new board governing The Co-operative Group, with executives being drawn from professional backgrounds. In the light of this, it is clear that the future running of The Co-operative Group will be very different to its past.


It should be recognised that not all references to ‘co-operatives’ refer to parts of The Co-operative Group. Co-operatives are very diverse; they can range from retail business, to credit unions, and housing co-operatives. They can be set up in different ways, using different legal structures. As is the case with a franchise, a co-operative is, in itself, not a separate legal structure. Whatever its legal form there are certain key elements to any co-operative business:





•  It is owned by its members; the people who use it.



•  It is run by its members who elect those managing the business and so help shape the decisions their co-operative makes.



•  Profits are shared among members; this is important; a co-operative is not a charity, it is a business.





Advantages of a co-operative





•  Establishing a co-operative is legally straightforward; the legal documentation is straightforward and inexpensive.



•  All involved are working towards a common goal; employees can be expected to be motivated and therefore productive. Customers are usually loyal and supportive.



•  Liability for members is usually limited.



•  A high quality of service should be provided, since customers are likely to be members and also because profits made (from customers) are shared.



•  The stakeholders in a co-operative should benefit because of the approach it adopts. However, there are also disadvantages.





Disadvantages of a co-operative





•  Capital can be limited. Initially it is limited to what is contributed by members. Banks may be reluctant to lend as a co-operative might be regarded as ‘not a normal type of business’. In any event, potential investors may be put off by the possibility of a limited return.



•  Weak management. Those elected to manage may be well intentioned but ineffective because they do not have sufficient grasp of business principles. If this occurs it will mean lower benefits for members and other stakeholders.



•  Employees may want more as they begin to feel that instead of profits being reinvested to further the co-operative’s aim, they deserve more themselves.



•  Slower decision making, since there is greater involvement by members.



•  Co-operatives operate successfully all around the world, but there is no guarantee that operating a business in this way is necessarily going to generate more benefits for its stakeholders than an ‘ordinary’ business would.
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Further sources





www.franchisedirect.co.uk: franchise opportunities available in the UK.



www.mcdonalds.co.uk/ukhome/Aboutus/Franchising.html: information about running a franchise from one of the world’s leading franchisers.



www.co-operative.co.uk: homepage of the Co-operative Group. It contains information about the history and nature of the Co-operative movement and its stance on business practices and consumer issues.



www.uk.coop: information about the co-operative approach to running a business.



www.employeeownership.co.uk: The Employee Ownership Association. The voice of business in the UK with a significant amount of employee ownership.
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Your turn


Revision questions





1A Explain what is meant by the term ‘franchise’.


(2)



1B Explain what is meant by the term ‘franchisee’.


(2)








2  Identify two likely costs a franchisee has to pay to the franchise.


(2)



3  Explain what is meant by ‘A franchise is not a separate type of legal structure’.


(2)



4  State the three characteristics of a co-operative business.


(3)








5A Analyse two advantages of running a business as a co-operative.


(4)



5B Analyse two disadvantages of running a business as a co-operative.


(4)


    Total


(19)





Case study


Co-operatives and franchises in the high street


Any shopper walking through a typical town centre might easily come across examples of both co-operatives and franchises. John Lewis, which operates John Lewis department stores, Waitrose supermarkets and a number of other services, is a common sight in a high street. Officially the business is ‘John Lewis plc’, but it is actually owned and managed by its staff who are called ‘partners’. With thousands of staff, it is clearly not ‘a partnership’ in the legal sense of the term and, in fact, it is not a plc in the usual sense either. It is employee owned; a co-operative.


Its founder was John Spedan Lewis, an entrepreneur in the 1920s who wanted to create an organisation that (to quote from the business’s website) ‘would be both commercial allowing us to move quickly to stay ahead in a competitive industry, and democratic giving every Partner a voice in the business they co-own’.


The business was indeed once a company, but in 1949, Lewis signed a Trust Settlement, transferring his shares and making the whole business the property of the people employed by it. He made the trust settlement ‘irrevocable’, that is, permanent. Thus, although it is technically still a company, no one can actually buy shares in it. This is highly unusual.


The internal running of John Lewis is democratic; every employee has the opportunity to influence the business through local branch meetings. At the top of the business is the Partnership Council. The partners elect most of the representatives on this committee, while the chairman appoints the remaining ones. The councils have the power to discuss ‘any matter whatsoever’.


The partnership believes in ethical standards of trading and there is a code relating to supplier expectations on issues such as pay, working hours, child labour, and employee rights.


Profits are reinvested into the business for modernisation and expansion and also into the business’s pension scheme. Employees are expected to be smartly dressed, polite and very attentive to customer needs. High-pressure selling is forbidden. In return, employees get a variety of benefits and a bonus based on the business’s profits every year. In 2014, even though the group saw its annual pre-tax profits fall by 4 per cent, to £329.1 million, it paid all staff a bonus of 15 per cent – the equivalent of around eight weeks’ salary.


A rather different situation exists at McDonald’s, another well-recognised retailer in the high street. McDonald’s is known as a premier franchising company around the world and, in fact, more than 80 per cent of its restaurants worldwide are owned and operated by franchisees. Franchising has become very popular in recent years and a survey by NatWest and the British Franchise Association in 2013 found that:





•  The annual turnover of UK franchises in 2013 was £13.7 billion.



•  Franchise revenues have grown 20 per cent since 2008 (whereas the overall UK economy had contracted 2.5 per cent in the same time period).



•  There are 930 franchisers in the UK.



•  There are 39,000 franchise outlets.



•  The number of franchisees reporting profitability (including new businesses) was 92 per cent.





How much does a McDonald’s franchise cost? The cost of a restaurant ranges from £125,000 to £325,000. There is also a one-off franchise fee of £30,000 and a training deposit of £5,000 (which is refunded once training is complete) and on-going fees such as the fee for using the McDonald’s brand and their system of retailing. There is also a contribution to the national marketing spend.


In return for this, the franchisee gets to use a globally known brand name and an established business model. On the issue of ‘how much will I make?’ the McDonald’s website states ‘Cashflow (before debt repayment) typically ranges from £95,000 to £200,000 per year for each restaurant but this isn’t guaranteed: it could be more, it could be less.’


McDonald’s are looking for people with a specific skill set to operate their franchises; strong leadership qualities, high personal integrity, and the personality to be an excellent ambassador for the brand are prerequisites – along with business experience. In addition, franchisees are encouraged to support the community in which they operate.


Source: www.thebfa.org/about-franchising/franchising-industry-research


http://www.johnlewispartnership.co.uk/about.html





1  Explain how two stakeholders in the John Lewis Partnership may benefit from its co-operative approach.


(4)



2  Analyse one reason why it may not be possible for a business to operate using the co-operative principles of the John Lewis Partnership.


(4)



3  Calculate the average turnover of a UK franchise.


(3)



4  Calculate the minimum amount of capital a franchisee would need in order to purchase a McDonald’s franchise.


(4)



5  Evaluate why someone starting their own business might decide to operate a McDonald’s franchise.


(9)



6  Evaluate why McDonald’s has chosen to franchise some of its operations.


(15)


    Total


(39)
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Chapter 4


Business size, growth and external growth
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AS/Year 1


Year 2


A Level students must know all of the content in this chapter.


AS students must know:





•  Business size and growth





But they are not required to cover:





•  External growth (pages 23–25)
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Business size and growth


It is common to read statements such as ‘the economy is dominated by large businesses’ or ‘small and medium-sized businesses are the future of the British economy’. In order to help evaluate whether these sorts of statements are correct, it is important to understand the criteria by which a business’s size can be measured.


A number of factors need to be taken into account when making a judgement about the size of a business.


Number of employees


Normally it would be expected that a ‘large’ business will employ a large number of employees. However, it may not be appropriate to judge the size of a business purely on the number of employees. Many factories are highly automated and capital-intensive; they produce a lot of output, but do not employ a large number of people.


In the UK, a business with fewer than 50 employees is regarded as small, and a business with more than 250 employees is large.
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A ‘large’ business usually has a large number of employees





Number of factories, shops or offices


The higher the number of factories, shops or offices a business has, the more it will be perceived as ‘large’. A similar criterion is whether the business has factories, shops or offices in other countries – and, if so, how many.


Turnover and profit levels


Turnover is the value of a business’s sales. A high turnover is usually associated with a large business. However, a jeweller may only own one shop but still have a high turnover because of the high value of the (relatively few) products sold. Similarly, the higher the profit level, the larger the firm is likely to be. However, a large firm may temporarily be having trading difficulties and therefore making a lower than usual turnover and profit, so this measure may not be completely accurate as a measure of size.
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Tips and techniques


It is important to note that there is not necessarily a direct correlation between the size of a business and the level of profit made
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Stock market value is one way of measuring the size of a public company





Stock market value


The value of a public company can be calculated by multiplying the current share price by the number of shares issued. The higher the figure, the larger the company is likely to be. There is, however, a significant drawback with this method; if the share price falls, it reduces the value of the company. This means that on this measurement of size the business has suddenly become smaller – even though a change in share price has no immediate impact on the number of factories, machines or employees. Throughout 2013 and most of 2104 Tesco’s share price steadily fell as it struggled to cope with the competition from businesses such as Aldi and Lidl, but this did not change the size of the company. Since share prices can change daily, this method of estimating a business’s size could be misleading.


Capital employed


Capital employed is the total value of a business’s assets – its factories, machinery, offices, and so on. If the figure is high, it is reasonable to assume that the business is large. However, as with stock market valuation, prices, and therefore values, of factories and office blocks can rise or fall without any changes in the actual number owned. In addition, the geographical location of assets also affects their value. A factory unit in north London will be more valuable than a business of exactly the same type, in exactly the same sort of unit, in (say) South Wales. On this measure, the London business would be ‘larger’.
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Tips and techniques


Measures of size may seem obvious but be aware of the limitations of each measure.


[image: ]





EU definitions of business size


In the EU there is, in fact, a standardised way of determining the size of a business. The EU’s chosen factors for this are the number of employees it has and either turnover, or the balance sheet total. As defined by the EU (EU recommendation 2003/361) the definitions for small and medium-sized enterprises (SMEs) are as shown in Table 4.1.




Table 4.1 EU definitions of business size
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These EU definitions are important since one of the objectives of the EU’s regulation of businesses is that they are all ‘operating on a level playing field’: any financial support to small and medium-sized enterprises in member countries has to be given according to the same criteria. If ‘small businesses’ in EU countries are going to be allowed to be supported with (for example) grants from their national government or from the EU itself then there has to be a common definition of what ‘a small business’ actually is. Large companies (those with more than 250 people; turnover greater than €50 million; or a balance sheet greater than €43 million) usually have limited scope for any state or EU assistance.
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Key term





Business size: the EU has a standardised way of measuring size based on the number of employees, and turnover or balance sheet value.
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Factors affecting the size of a business


Market size


Where the market is small it is often dominated by relatively small businesses. This is because larger firms do not think they can gain the economies of scale and/or the level of sales to gain the desired level of profit. Consideration also needs to be given as to whether the market is expanding, static, or contracting.


Nature of the product


If a product is large and technologically complicated the firm will usually be larger because of the resources necessary to make, and upgrade, it. Where the product is highly standardised it is usually made by a large business since it can gain economies of scale from manufacturing it. A less standard product made, and marketed, with ‘a personal touch’ will often be supplied by a smaller business.


Personal preference


An entrepreneur may not want to expand nationally (or even regionally). He or she may not be particularly ambitious and may prefer to be ‘a big fish in a small pond’ than ‘a small fish in a big pond’. Opening a new factory or office could mean a loss of control over the business, which the entrepreneur may not want. There may also be the consideration of whether the time and trouble that will need to be devoted to any expansion is ‘worth it’ in terms of risks (see Chapter 9) and personal sacrifices that may have to be made in terms of family life.


Ability to access resources for expansion


Are funds available? For example, the ‘credit crunch’ (the banks’ reluctance to lend in the years following the 2008 crash) prevented many small and medium-sized firms from expanding.


External growth: the growth of a business


A business might want to grow for a number of reasons. These include:





•  The entrepreneur wants a greater challenge.



•  The owners want a higher return on their investment.



•  Growth, through diversification into new markets, can help spread risk.



•  A bigger, stronger business is better placed to fight any economic or competitive threats successfully.



•  The opportunity to gain unit cost reductions through economies of scale.





The effect of a business’s size on its stakeholders


There can be a tendency to assume that a large business is always better for its stakeholders than a small one because it is bigger and stronger. This is not necessarily the case; each business needs to be considered individually when examining the impact of its size on its stakeholders, but Table 4.2 indicates some of the possible stakeholder issues in a large business.




Table 4.2 Possible advantages and disadvantages for stakeholder in a large business
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Organic growth


Organic growth is that which is achieved by increasing the firm’s sales. This comes from selling more to existing customers, finding new customers, or both. If a business constantly achieves high levels of organic growth this indicates that its managers are taking the right actions in terms of (say) marketing and are using the business’s resources efficiently.


Mergers and acquisitions


Growth that comes from a merger or an acquisition is different to organic growth. A merger is where two companies join together to form a new larger business. A takeover involves acquiring control of another company by buying its shares. If the takeover is successful the target company will usually continue to exist as an independent legal entity controlled by the acquirer. A takeover might go smoothly because the shareholders of both companies consider it to be beneficial. On the other hand, it may be resisted and so be regarded as ‘hostile’. In 2014, the American pharmaceutical giant Pfizer made a takeover bid for the UK company AstraZeneca, which did not succeed, but was the largest ever attempted takeover in UK corporate history – £69 billion (see Chapter 2).


Joint ventures


A joint venture is a formal business arrangement between two (or more) businesses who commit to work together on a particular project. Both parties invest money, time, and effort in the project. A joint venture is different from a merger because there is no change of ownership involved for either firm. A joint venture may only be in existence for a particular project, or it could be ongoing. A joint venture will often result in the creation of a new business to implement the venture.


The two companies forming the joint venture do not have to be in the same country. Virgin Mobile India is a joint venture between Tata Teleservices and the Virgin Group. Before the venture Tata did not have a developed mobile phone brand image and Virgin did not own any telecommunications infrastructure in India. The result was the joint venture. Virgin uses Tata’s networks to offer its services under the brand name ‘Virgin Mobile’ and in turn it provides Tata Teleservices with experience and expertise in designing, marketing and servicing of mobile phone products.


In 2014 the UK-Dutch oil company Shell announced a joint oil exploration venture with Russia’s state-owned oil business Gazprom. Both companies had already been co-operating on shale oil exploration and drilling since 2013.


Why undertake a joint venture?





•  The capital cost of a particular project might be very high and may well be beyond the resources of a single business. Thus a joint venture allows both parties to share the cost burden.



•  A single business may consider the venture too much of a risk. The construction of the channel tunnel was a joint venture for this reason.



•  It also enables businesses to share strengths, and increase their competitive advantage against others.



•  A joint venture can be an effective way of gaining access to markets or resources in another country.





However, a joint venture will mean drawing up a contract that specifies responsibilities and goals. This may be expensive due to the legal costs but will be crucial for avoiding disagreement in the future.


Strategic alliance


A strategic alliance is similar to a joint venture. In this context, ‘alliance’ means ‘co-operation’ rather than the sort of partnership that usually comes with a joint venture. It is typically less involved and less permanent than a joint venture, although the aim is similar – each party hopes that the benefits from the alliance will be greater than those that could be obtained from operating on its own. With a strategic alliance there will not be the creation of a new company and each party will clearly maintain its own identity.


The co-operation between the companies could come from the sharing of (say) technology, information, or risks. Apple, for example, partnered with Clearwell in order to jointly develop Clearwell’s E-Discovery platform for the Apple iPad.


The concept of the strategic alliance is clearly demonstrated by the behaviour of many of the major airlines in what is known as ‘a codeshare flight’ (the code refers to the ticket’s code), where a flight is operated by one airline, but is marketed and sold by others as well. It began in 1990 when American Airlines formed an alliance with the Australian-based Qantas. The two airlines reached an agreement that merged many of their flights. The alliance allowed American Airlines to sell tickets on some Qantas flights, and in turn for Qantas to sell tickets on some American Airlines flights. This meant that each airline could book passengers to fly to more destinations without actually incurring the cost of expanding their service. Most major airlines now have alliances in the form of code-sharing agreements with other airlines.


The strategic alliance need not necessarily be for profit. The Global Alliance for Vaccines and Immunization is a public sector–private sector global health partnership which brings together donors, developing country governments, and national healthcare delivery systems to try to eradicate disease.


Are joint ventures and strategic alliances beneficial for a business’s stakeholders?


Whether these types of growth impact in a positive manner on the business’s stakeholders will depend on several factors:





•  The venture/alliance could fail and the expected stakeholder benefits fail to materialise, for the same reasons that any business can fail; e.g. shrinking markets, inability to keep up with changes in customer needs, or poor economic conditions.



•  The relative strengths of the parties when the contract or agreement is drawn up. If one party is more powerful than the other it could demand conditions, such as the division of profits, which are more advantageous to itself and its stakeholders than to the other firm.



•  The terms of the agreement and the wording of any contract need to be clear; the parties must be very specific about their rights and duties. If the contract is vague or ambiguous it will be a recipe for trouble (and possibly legal action), therefore the expected benefits for the stakeholders will not appear.



•  Much depends on the integrity of those working together and how problems that arise during the venture or alliance are resolved; are parties honest and helpful with each other, or is there simply an attempt to shift the blame? As with any agreement to undertake a project, if one party fails to honour the terms of it, it will fail to the detriment of all.



•  Even if both parties are ‘evenly matched’ and work together in good faith, whether all stakeholders benefit from the venture or alliance depends on whether the business adopts ‘the stakeholder model’, which sees stakeholders as broadly equal, or sees one particular stakeholder (typically the shareholders) as the group that should benefit the most from it. If the joint venture or alliance results in worse conditions and terms for (say) employees and suppliers then clearly these stakeholders will not benefit from it. This is a particularly important consideration if the joint venture or alliance is taking place in a country in the developing world.
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Further sources





www.ec.europa.eu/enterprise/policies/sme/facts-figures: The European Commission. Definitions of business size, EU policy towards small and medium-sized businesses and the types of legislation that impact on them.
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Your turn


Questions in red are for A Level candidates only.


Multiple-choice questions





1  Which of the following is not one of the EU’s criteria for measuring a business’s size?







    A  number of customers


    B  number of employees


    C  the balance sheet value


    D  value of turnover.


(1)








2  A firm is most likely to be ‘large’ if:







    A  It produces a highly personalised product


    B  It is hard for the firm to access capital via loans


    C  It is experiencing diseconomies of scale


    D  The entrepreneur is successful.


(1)








3  Which of the following is a likely characteristic of a joint venture but not a strategic alliance?







    A  There are diseconomies of scale


    B  A new company is formed


    C  The partnership ensures growth for both businesses due to customer loyalty


    D  The businesses involved are large.


(1)








4  A joint venture is most likely to be a success if:







    A  Both businesses are large


    B  The duties of each partner in the venture are clearly established


    C  There are a large number of customers in the market


    D  Sufficient capital is available.


(1)





Revision questions





1A Identify two different methods of measuring a business’s size.


(2)



1B State one advantage and one disadvantage of each method identified.


(4)








2  Explain how the size of the following businesses might be judged:







    A  a supermarket chain


(2)


    B  a car manufacturer


(2)


    C  an online retailer


(2)








3  Evaluate which, if any, of the businesses in the table below would, according to the EU criteria, change their size if the predicted percentage increases in employees, turnover, and capital employed actually occurred.


(3 × 6)



4  Outline two reasons why small businesses continue to thrive in an economy dominated by large firms.


(4)


    Total


(34)
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Business objectives and strategy


Chapter 5


Stakeholders
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AS/Year 1


Both AS and A Level students must know all of the content in this chapter.
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Business activity creates jobs, prosperity and wealth. Who benefits from this? One way of considering this question is to look at the concept of stakeholders. A stakeholder is a person, or party, with an interest (i.e. ‘a stake’) in the success of a business. Stakeholders want to see a business succeed because they will benefit from this success.
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Key term





Stakeholder: a person or party with an interest in the success of a business.
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Stakeholders can be classified as internal or external. Internal stakeholders are found within the business and are the owners and employees, including managers. External stakeholders are suppliers, lenders, customers and the local community (see Figure 5.1).
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Figure 5.1 The stakeholders in a business





The concept of stakeholding can be used to create a useful framework to help analyse the operation of a business, the setting of a business’s objectives and also the strategy it develops to reach them.


The business–stakeholder relationship is extremely important because the relationship is ‘two way’; the business affects the stakeholders, and the stakeholders affect the business. The sorts of issues involved are:





•  which stakeholders are the most important and/or powerful?



•  how the objectives of the different stakeholder groups could affect the strategic decisions of the business



•  how the different stakeholder groups’ view may change



•  the extent to which the stakeholders regard the business as a success.
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Tips and techniques


It is important that you understand the relationship and the interaction between a business and its stakeholders. You need to be able to identify what each stakeholder wants from the business, and also evaluate the influence which each stakeholder can bring to bear on the business’s strategic decision-making.
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Stakeholder objectives


In theory, all stakeholders will benefit from a business’s success, but in reality they may not. Furthermore, even if all stakeholders do benefit, they may not do so equally. It is very important to recognise the potential conflicts between the objectives of the different stakeholder groups. In order to analyse why, it is necessary to consider the objectives of each stakeholder in the business.


Owners


A business may have a single owner if it is a sole trader, several if it is a partnership, or thousands of shareholders if it is a public limited company (see Chapter 2). The owner(s) will want the best possible return on the money they have invested in the business. They are also likely to want to see the business grow so that these returns increase.


The owners’ pursuit of profit seems obvious, but this does not necessarily mean that they want ‘immediate maximum profit’. Although a high rate of return is certainly likely to be a long-run objective, in the short run a business may pursue the objective of growth via low prices. This will hopefully mean that it captures more of the market and that customers will stay loyal in the long term if the business increases prices. In the immediate future, however, this tactic may reduce profits. This will have implications for the other stakeholders.


Employees


As their livelihood depends on the business, it is not surprising that employees want the highest wage they can get, a bonus if possible and job security. Employees are also likely to want the business to offer more than the legal entitlement to holidays, sick pay, and so on.


Most employees would like managers to organise their work so that it is interesting, challenging and provides some job satisfaction. In addition, many will want to attend training courses to improve their skills and therefore their pay and promotion prospects.


Customers


Customers want the best-quality product(s) at the lowest possible price. They also want product innovation – each year’s products should be better than the last. Other requirements are good customer service, such as helpful and polite staff or an easily accessible call centre with well-trained customer service representatives to answer any queries. They may want credit facilities if the product is expensive, such as furniture or carpets. As well as these factors, customers are increasingly aware of ethical issues and ask questions such as ‘Were the products obtained from sustainable sources?’ and ‘Did any animals suffer in the making of the product?’


If consumers are fundamentally dissatisfied with quality, price, service or ethical behaviour, they will eventually stop buying from the business. If sufficient numbers of people do this, it can have a significant effect. Consumers may form pressure groups that try to influence the business by generating bad publicity.


Suppliers


If a business ceases trading, its suppliers lose a source of income. Therefore, a supplier would like to see its customers prosper so that it has a regular profit; it would like repeat orders rather than ‘one-offs’. Furthermore, it hopes its customers will grow larger so that, in turn, it can increase its own sales to them. A supplier would also like to be paid as promptly as possible.


There is a difference between a supplier as ‘a supplier’ and a supplier as ‘a stakeholder’. In the latter case, a business will try to build up a long-term relationship with its suppliers. This means using them regularly, paying them on time, and involving them in any plans for expansion. Suppliers who are treated as stakeholders are more likely to be loyal and committed because they have ‘a stake’ in the business in the true sense of the word.


A business that changes suppliers continually and tries to delay payment whenever possible may well be able to lower costs in the short term. However, a business should not be surprised when, if it needs supplies of a particular kind at short notice, the firms that it has treated as suppliers rather than stakeholders are not prepared to ‘drop everything’ in order to help out if they are already busy.


While it is sensible for any business to try to drive its costs down, this has to be balanced against the benefits of developing a long-term commitment with reliable suppliers who may be crucial to success in the future.


Lenders


Just like a supplier, a bank wants the agreed amount owed to it to be paid at the agreed time. These stakeholders do not want to receive less than expected or, alternatively, the correct amount but at a later date. The objective of a lender, such as a bank, is therefore to get its money back at the agreed time.


The community


Businesses are chiefly interested in what their costs of production will be and what profit they will receive from their sales. These are known as private costs and benefits. However, the community is also affected by business activity. This ‘community’ can be defined as the people living in the area around the business. While most people would welcome an increase in their quality of life, they may not all agree that business activity necessarily brings it about. On the one hand, businesses bring jobs and greater spending power. It may also cause property prices to rise and crime levels to fall. Furthermore, many businesses are actively involved in community projects such as sponsoring sports teams. As more businesses move into an area, the local authority may improve the roads, making it easier for residents to drive around. These positive factors are brought to the community by businesses and are known as external benefits.


Business activity can also create external costs. These are costs which are not paid by the business itself in the same way that labour and raw material costs are. These external costs are ‘paid’ by society. For example, if a business that produces chemical products locates in a particular area, there might be continual deliveries of raw materials. This will mean additional congestion and pollution on the roads, as well as noise pollution for nearby residents. There may also be a smell from the factory. Property prices may fall. None of these is a cost to the firm, but will be paid (i.e. imposed on) the community.


When making a judgement about the activities of a business the phrases ‘social benefits’ and ‘social costs’ are sometimes used. These terms are not quite the same as ‘external benefits’ and ‘external costs’. Social benefits and social costs refer to the overall benefits and/or costs to society that are involved. They are calculated as follows:


Social benefits = private benefits (to the firm) + external benefits (to society)


Social costs = private costs (to the firm) + external costs (to society)


Suppose a recycling plant for household waste is built on some wasteland, what are the likely costs and benefits? The private benefits are going to be the profits created by the firm’s operation and the external benefits will be the jobs created and the renovation of land and roads around land that was previously unused.


The private costs will be the construction cost to the business of the plant and the redevelopment of the area. The external costs could be the fall in house prices on any roads near the plant and any extra pollution and congestion created in the area.


The calculation of the full social benefits and social costs means allotting a monetary value to an external benefit or cost. Once this is done then a judgement can be properly made on whether ‘benefits exceed costs’ or not. This judgement would not be accurate if only the private costs and benefits were taken into account.
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Key terms





Private costs and benefits: costs that a business pays (e.g. labour costs) and the benefits it gets from its activities (e.g. profit).



Social costs and benefits: the overall, or ‘true cost’ of a business’s activities, taking into account external costs and benefits, as well as private ones.
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Pollution caused by a business is a an external cost





The government


The government is not a direct stakeholder in the same way as the others, but nevertheless it has an interest in any business’s success. This is because if more people are employed as a result of a business’s activities, the government will pay out less social security benefits and receive increased tax revenue from the business and its employees.


Also, as a business grows larger, it may start to export (sell goods abroad). When this happens, it helps to improve the UK’s trading position with other countries.
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Figure 5.2 A summary of a business’s stakeholders and their objectives
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Tips and techniques


There is some debate as to whether a competitor is actually a stakeholder or not. It is true that a competitor has ‘an interest’ in a rival business, but it is unlikely that they have an interest in (i.e. want to see) that business succeeding. It would presumably rather see it fail and for its own business to succeed. You will not be penalised for adopting either point of view, as long as you make clear how you view ‘a stakeholder’.
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Further sources





http://www.companieshouse.gov.uk/: information about and the legal situation regarding companies in the UK.



www.gov.uk/company-and-partnership-law--2: information about the provisions of the Companies Act 2006.
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Your turn


Questions are suitable for all AS and A Level candidates.


Multiple-choice questions





1  Which of the following is an example of an external cost?







    A  Employees demand a pay rise because the rate of inflation has risen


    B  A fall in the cost of raw materials sourced from abroad


    C  A drop in house prices in a location near a business that produces smoke pollution


    D  A new competitor emerges, causing market price to fall.


(1)








2  Which of the following is an internal stakeholder in a business?







    A  local community


    B  managing director


    C  suppliers


    D  the government.


(1)








3  A ‘key stakeholder’:







    A  is the stakeholder group with the largest number of people in it


    B  will always succeed in achieving its objectives


    C  has influence over a business’s decision making


    D  is only a relevant concept in large businesses.


(1)








4  Which of the following is not likely to be an example of a stakeholder conflict?







    A  A rise in wages lowers profits


    B  Community initiatives are reduced in order for funds to be spent on training


    C  A reduction in dividends to fund employee bonuses


    D  A supplier lowers costs and the business reduces prices.


(1)





Revision questions





1  State what is meant by the term ‘stakeholder’.


(1)








2A Identify five likely stakeholders of a business.


(5)



2B Identify two likely objectives of each stakeholder you have identified.


(10)








3  Explain the difference between ‘private costs and benefits’ and ‘social costs and benefits’.


(4)


    Total


(20)





Case study


The London Underground


The London Underground (also known as the Tube) serves a large part of Greater London and parts of the counties of Buckinghamshire, Hertfordshire and Essex. It has 270 stations and around 402 km of track. Some of the track also runs above ground. The operator, London Underground Limited (LUL), is a wholly owned subsidiary of Transport for London (TfL), which is the publically owned body responsible for most elements of London’s transport network; it reports to the Mayor of London. Over a billion journeys a year are made on the Tube; passenger traffic was up from 1,089 m in 2008 to 1,229 m in 2013.


TfL’s website states ‘We are here to keep London working and growing, and to make life in the Capital better’ and is funded in a variety of ways including central government grants, a proportion of London’s business rates and income from fares and the Congestion Charge scheme.


Employer–employee relations at LUL have not always been positive. In 2014 there was a dispute concerning LUL’s intention to close a number of ticket offices (replacing them by automated machines) and making 960 staff redundant. The RMT union announced its intention to call another strike lasting three days in May 2014, but after ‘last ditch’ talks the union announced that it was calling it off. This was good news for LUL’s passengers; the strikes called by the RMT union in the past have been extremely disruptive. The RMT’s acting general secretary Mick Cash said they had secured ‘real movement and significant progress’. LUL’s Chief Operating Officer Phil Hufton said he was ‘pleased that Londoners will not have to endure further strike action’.


Mr Hufton added:




Modernisation of the Tube means that it is our intention to close all ticket offices, used in less than 3% of journeys, and instead deliver a vastly better customer service by bringing more staff than ever before out on to the concourses of stations at ticket machines, ticket gates and platforms – just as we delivered during the London 2012 Games. This will also allow us to save £50m per annum to reinvest in better and more reliable train services and to keep fares down.


Source: www.oxfordmail.co.uk/news/11192118.print








1  Explain what is meant by the term ‘stakeholder conflict’.


(2)



2  Analyse two possible stakeholder conflicts that could arise within LUL.


(4)



3  Identify two external benefits that could arise from the operation of LUL.


(2)



4  Calculate the percentage increase in passenger numbers on the Tube between 2008 and 2013.


(3)



5  Employees, customers, and managers are three important stakeholders of LUL. Evaluate the influence that each stakeholder has on the operation of LUL.


(9)


    Total


(20)
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Chapter 6


Different stakeholder objectives and mission statements
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AS/Year 1


Year 2


A Level students must know all of the content in this chapter.


AS students must know:





•  Different stakeholder and business objectives





But they are not required to cover:





•  Mission statement (page 32)





However, knowledge of the mission statement is useful, as it forms the basis for many business objectives.
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A business needs some sort of target or sense of what it wants to achieve. To suggest that all businesses just want to make a profit is not enough; nor is it necessarily accurate. It may depend on what type of business is involved and how long it has been trading. Having a clear idea of its intentions is not only important in terms of providing a target, but it will also enable all who work in the business to be aware of where the business is hoping to go.


A company’s intentions can be analysed in terms of its mission statement, its aims or goals, and its strategic and tactical objectives. These form a hierarchy of objectives, as shown in Figure 6.1.
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Figure 6.1 A company’s mission statement, goals and objectives





Mission statement


A mission statement gives a general idea of what the business exists to do and its purpose is to set this down for the benefit of all stakeholders. Examples of mission statements from Unilever, Cadbury UK Limited and Ella’s Kitchen are given below. The statement is intended to appeal to employees and customers alike. It is a qualitative statement, which contains no specific elements. The mission statement can be used as a form of marketing and it will usually state the overall organisational or corporate aims of the business.
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Examples of mission statements


Unilever


‘…the highest standards of corporate behaviour towards everyone we work with, the communities we touch, and the environment on which we have an impact…’


Cadbury UK Limited


‘Our core purpose is working together to create brands people love.’


Ella’s Kitchen


‘At Ella’s Kitchen our mission is to create healthy eating habits that will last a lifetime. With all our products we take simple, wholesome, organic ingredients that ooze goodness and have nothing else added at all.’
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Aims/goals


Aims or goals are more specific than a mission statement, but they are sometimes confusingly used as alternative terms for the main objectives of a business. The principal aims of most businesses include:





•  Survival. For a new business, the most important aim is survival, especially if the new business is trying to compete with well-established companies.



•  Breaking even. It is not likely that a business will be profitable straight away. There are many costs to cover, especially those of the premises and all the fixtures (fixed costs or overheads — see Chapter 26). Therefore, it is more realistic to set a target of breaking even within a given time period (see Chapter 28).



•  Share of the market/growth. Much depends on the type of business and the market in which it operates. Capturing a larger share of the market not only increases sales with all the benefits that follow, but also puts the business in a position from which it can try to dominate the market.



•  Profit. This is a longer-term goal than survival. The ability to make a profit depends on the type of products or services offered by the business and the amount of competition in the marketplace.





Cadbury UK Limited states that its main aims are to:





•  deliver top-quartile shareowner returns



•  profitably double its global confectionery share



•  profitably maintain and grow its regional beverages share



•  develop best-in-class capabilities



•  grow as a company admired internally and externally.
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Objectives


Companies seek to achieve their main aims or goals by setting various specific objectives. Setting objectives provides:





•  a greater sense of direction for the business



•  a possible motivational force for all employees



•  an aid to controlling existing and future operations in the business.





Hierarchy of objectives


One way of looking at objectives is to see them as part of a hierarchy for the business of moving itself forward. The hierarchy will involve:





•  the mission or overall purpose of the business



•  its vision and where it wants to be in the future



•  the aims the business has for achieving its mission and vision



•  the objectives that are to be put in place to achieve all this.





Strategic objectives


In order to achieve its main aims, a business adopts a plan that contains several strategic objectives. For example, the business could aim to achieve a 10 per cent growth in sales within three years. To reach this goal, the business may decide that its strategic objectives are to:





•  increase productivity within the business in order to reduce costs and thereby increase sales via lower prices



•  sell its products in new markets.
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Key term





Strategic objectives: how a business plans to achieve its aims or goals; often a long-term approach.
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However, before deciding on the most appropriate strategic objectives, the business may undertake a SWOT analysis (see Chapter 50). This will help the business to decide the best way forward in order to achieve its aims.


Tactical objectives


These are the short-term objectives necessary to achieve the business’s strategic objectives. They are likely to be concerned with the day-to-day activities of the business. If the company’s aim is to achieve 10 per cent growth in sales and its strategic objective is to sell its goods in new markets, the tactical objectives will concentrate on how this is to be achieved. For example, the business may want to advertise and merchandise its products in a chosen area within six months. It may also decide that the best way of achieving the strategic objective is to reduce its prices in these new markets.
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Key term





Tactical objectives: the day-to-day (short-term) objectives needed to ensure the strategic objectives are achieved.
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Setting objectives: SMART


A useful set of criteria for setting objectives is SMART. According to these criteria, objectives should be as follows.


Specific


It is important that everyone understands what the target is.


Measurable


Normally, the objective statement should contain a type of measurement to ensure that success or failure can be ascertained.


Agreed


Agreement between different departments makes it more likely that objectives will be achieved. In practice, not only might different departments within a single business set different objectives, but some of these objectives might be conflicting. The marketing department may want to achieve an increase in sales of 10 per cent and therefore decide to run a larger advertising campaign. Meanwhile, the finance department may want to achieve cuts in costs of 5 per cent and therefore want to restrict the spending of other departments. To be successful, all departments need to work together in setting objectives. It is also useful for stakeholders, such as employers and workers, to agree on the firm’s objectives. In practice, the stakeholders of the business have different needs and therefore often have different objectives (see Chapter 5).


Realistic


It is important to be realistic when setting objectives, in order to avoid employees becoming demotivated. How would you feel if you were set the objective of gaining an A grade for all your subjects? What objectives are realistic will vary according to the type of business. A large multinational plc will have achieving a certain level of profit in a given timescale as one of its major objectives. This is because it has shareholders to satisfy. On the other hand, a new business that is owned and run by one person will want eventually to make a profit, but in the short term will be more concerned with survival.


Time-bound


Often there is a timetable specifying the period over which an objective is to be achieved. A time constraint aids measurement and tends to focus people’s minds.
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Tips and techniques


SMART is a good starting point for a business when setting objectives.
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Constraints


Once objectives have been set, it is not just a question of sitting back and waiting. The circumstances in which the business operates (the business environment) may hinder progress and, in some situations, may require a complete change in direction.


Constraints on a business can be either internal or external.


Internal constraints include:





•  a lack of finance to meet the chosen objectives



•  poor communication within the business



•  a conflict of interests between departments within the business



•  an industrial dispute with the workforce.





External constraints include:





•  changes in the law that affect the operation of the business



•  the state of the economy



•  the behaviour of competitors



•  the opinions and behaviour of external stakeholders.





Objectives and stakeholder conflicts


The constraints on a business mean that even when SMART objectives are set, those objectives are not automatically going to be achieved. Also, SMART objectives do not mean that all stakeholders are happy with those objectives, or the manner in which they are going to be reached. There are a number of conflicts that can occur between stakeholders (see Chapter 5).


Those who believe in the stakeholder approach to business argue that taking into account the needs of all stakeholders when setting objectives rather than only one group – usually the owners – will mean in the long run that all stakeholders will benefit. They say that concentrating on one group is counterproductive, as it will alienate the others. This may be true, but in the short term at least there have to be trade-offs between the various groups.


The objective of increasing company profits by £10 million over the next 18 months seems, on the face of it, to fit most of the SMART criteria. However, suppose it will be achieved through price increases and making employees redundant. The fact that in the future there is the possibility that all stakeholder groups will benefit from the greater profits will be no consolation to those who are about to lose their jobs, or to consumers facing a large price rise. It is therefore possible to see how conflict between these two groups and the shareholders is likely to arise as a result of this particular objective being chosen.


Corporate objectives


The mission statement gives an indication of the corporate objectives of the business, but often in vague terms. The aims or goals for the business are more specific and change over time. Such objectives give a sense of direction for the business and help to define the culture in which the business is organised and operates. The corporate culture of the business is clearly linked to its corporate objectives. Many Japanese companies operate a culture that tries hard to ensure that all employees feel they are part of a big family.


Social objectives


Today there is a greater desire to be seen as a business that cares. Having a social conscience is also seen by many businesses as an effective marketing tool. Being ‘green’ or environmentally friendly, or offering sponsorship in the local community, are all ways in which a business can satisfy its social objectives. Regardless of the size of the business, from a multinational petroleum company to a mobile road café, all businesses are now likely to have an awareness of, and a policy on, social issues.


Waste and its reduction are a good example of how businesses have realised that demonstrating social conscience can also save significant amounts of money – if there is a reduction in the amount of waste they create. With the rising cost of using landfill sites, reducing waste not only lowers costs but also satisfies the social objectives of the business.


There are instances when the corporate and social objectives may conflict. If one of the corporate objectives is related to profitability for its shareholders, spending money on social objectives that add to costs and therefore reduce profits may not be appropriate for the shareholders.


Changing objectives


Over time, as circumstances change, businesses may need to adapt their objectives. In particular, a firm’s tactical objectives may alter, depending on priorities and circumstances, in order to achieve both the implementation of the strategic plan and the firm’s main goals.


However, only in extreme circumstances will the strategic plan have to be changed. Following the Ebola epidemic in 2014 in Western Africa, companies in the travel industry had to alter their plans for flights and visits to that area. For some businesses, it even led to a change in their strategic objectives, such as their sales targets, as these were no longer realistic.


A business may have a plan in place to deal with such circumstances — this is known as its contingency plan. Airlines have plans to counter any event that is outside their control. For example, an airline like British Airways will have plans in place to deal with industrial action by cabin crews.


Communications and objectives


Businesses need to ensure that they communicate their objectives clearly to all stakeholders and that they adhere to their objectives. Miscommunication about objectives can have serious results; if employees feel that growth is going to be achieved at the cost of jobs, with workers replaced by capital equipment, this can result in serious unrest (see Chapter 42). The method chosen to communicate the objectives, particularly a change of objectives, will need to be chosen carefully. Employees are likely to be resistant to change and any new ideas will have to be explained carefully, paying particular attention to the reasons for the change (see Chapter 22). Miscommunication from employer to employee and vice versa can quickly escalate into industrial unrest and a lack of trust.
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Further sources




www.learnmarketing.net


www.topachievement.com


www.maxwideman.com
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Your turn


Questions in red are for A Level candidates only.


Multiple-choice questions





1  Which of these is not part of the SMART process?







    A  Make sure the objective is stated specifically.


    B  Make sure the objective is to be achieved in a set period of time.


    C  Make sure the objective can be realistically achieved.


    D  Make sure the objective is meaningful.


(1)








2  A business sets an objective of growing 5 per cent a year for the next two years. If it begins with turnover of £100 million, what will its turnover be at the end of the two years?







    A  £110 million


    B  £105 million


    C  £110.25 million


    D  £110.5 million.


(1)





Revision questions





1  Explain what is meant by a ‘hierarchy of objectives’.


(2)



2  Explain why a firm might have a mission statement. Give three examples of objectives that might be included in a mission statement.


(5)



3  Explain the difference between strategic and tactical objectives.


(4)


    Total


(11)





Case study


Time for tea


Jane James opened her tea shop in a small market town in 2010 when she was made redundant. She had always loved baking and, as she was still below retirement age, she felt that this would be a good use of part of her redundancy pay.


Jane found suitable premises to rent in a small building at the end of her local high street and opened her business in 2011. She served teas, coffees, and light lunches between 9.30 a.m. and 4.30 p.m. six days a week, working with one part-time helper. Jane made all the cakes and lunches herself, which meant that she often worked 14 hours a day.


When Jane was starting up the business she wrote a mission statement for herself and her other stakeholders. Her mission statement was as follows:


Time for Tea will:





•  provide an outstanding service to customers



•  use ethically produced ingredients and home-made products in the café



•  try to ensure that every customer feels valued and not rushed



•  provide a family friendly environment for both customers and employees.





Jane’s café was an immediate hit in the town and Jane realised that she would need to employ more staff to cope with demand. She decided that she would offer part-time work to mothers with young children, mainly because this was a large part of her customer base, but also because the café’s hours would suit this group of employees. She built up a team of part-time workers who usually did four-hour shifts. The fact that they appreciated the work and understood the problems of childcare meant that these employees were usually willing to cover for each other when problems arose and that they were very loyal to the business.


Jane now has a decision to make about the future of her business. Her success has come to the attention of a company that runs a leisure park for families offering children’s activities. The organisation would like Jane to open a café on the side of the lake in the park. This would mean considerable growth for the business in terms of time, employment, production of food and financial commitment. Jane is not sure that she wants the business to expand and diversify to the extent that she loses day-to-day control, but she also knows that this is a huge opportunity for the future. At present she has no debts and Time for Tea is profitable; she needs to decide whether to risk expansion with all its problems.





1  State two features of Jane’s business that can be gained from her mission statement.


(2)



2  Analyse one possible conflict of objectives that could arise if Jane decides to expand to the leisure park.


(8)



3  Evaluate the benefits that have resulted from Jane’s ‘stakeholder objectives’ approach to running the business.


(15)


    Total


(25)
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Chapter 7


Strategy and implementation
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AS/Year 1


Year 2


A Level students must know all of the content in this chapter.


AS students must know:





•  PEST analysis (pages 39–40)



•  Stakeholder conflicts (page 41).
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Strategic management and planning


Planning is an important tool in ensuring the future success of a business. It will involve using tools such as decision trees (Chapter 12), critical path analysis (Chapter 63) and investment appraisal (Chapter 29) in any discussion about strategic planning.


Successful businesses need to plan for the future in many ways, and they need to ensure that the objectives that have been set for the future of the business fit with planning. They need to consider new products, changes in their markets, cashflow and investment decisions in order to remain competitive. Managers may need to take risks in order to maintain or increase profits; effective planning will help to minimise these risks and ensure that the business knows clearly what its future course of action will be. Businesses that don’t plan ahead are likely to find that they are overtaken by competitors and that profits are affected.


Objectives, strategy and tactics


These terms are often confused and used incorrectly in the everyday business matters, but each of them has a different meaning.





1  An objective is set by a business in an attempt to reach a particular goal. The main business objectives are survival, break even, profitability and expansion.



2  A strategy is the action plan that the business puts in place to reach its objectives. For example, a new children’s clothing shop may want to achieve survival in its first year. Its strategy to do this may be to use marketing to increase customer awareness in the local area.



3  A tactic is a particular step that a business takes to achieve its strategy. The tactic the children’s shop might use to achieve its strategy is to target all families in its local area with emails or flyers offering 10 per cent discount on sales.





So there is a flow from setting an objective into formulating a strategy and then determining the tactics to be used. Starting from the other end, the tactics make it possible to achieve a particular strategy and if the strategy or strategies are successful, a business will achieve the objective that it has set


Developing a strategy


In order to formulate a strategic plan, it is necessary to collect information on many aspects of the business. This will involve an internal and external audit of the business, which should be executed on a regular basis. The internal audit looks at the strengths and weaknesses of the business, and the external audit looks at the opportunities and threats in the trading environment of the business.
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Figure 7.1 An internal audit






Internal audit


An internal audit allows a business to assess its strengths and weaknesses in relation to its competitors across the whole of the business. Many businesses employ external organisations to complete these surveys, although it is possible for management to do them for their own departments. The purpose of the audit is to provide accurate information about each particular department, and it is therefore best to use accounting or statistical data wherever this is possible. For example, the human resources department could provide figures for absenteeism and turnover, while the marketing department looks at market share and advertising elasticity of demand. In each case, the business should compare itself with its major competitors to see where it has strengths and weaknesses.


External audit


The external audit looks at the opportunities open to the business and the threats which it faces in its external environment. All businesses operate in a constantly changing environment. The business needs to be aware of these changes, and must then assess the extent and implications of them on future success. Figure 7.2 shows the range of external factors which might affect a business.
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Figure 7.2 An external audit
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Volkswagen and the car industry


Volkswagen (VW) has built up an image of quality and reliability for its cars, which is reflected across the whole range. This has been done in response to competition and customer demands. In recent years, VW has managed to transfer this image to its Eastern bloc brand, Skoda. The business acquired this make of car, and changed it from a car renowned for unreliability into one which is now still inexpensive but produced with a commitment to quality in the factory in the Czech Republic.


A car manufacturer may have to respond to any of the factors shown in Figure 7.2 at any particular time. In recent years, safety and carbon emissions have become increasingly important issues for the consumer when purchasing a new car, and manufacturers have had to address these consumer concerns in their specifications for new models. The environmental effects of transport are now at the centre of concerns about climate change across the globe; no car manufacturer can afford to ignore these issues if they are to succeed.
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Factors included in the external audit are referred to by a variety of different acronyms, but the main ones are included in a PEST analysis, standing for political, economic, social and technological factors. PEST analysis now also covers a variety of other issues.


Political


The actions of government can have a major impact on the way in which a business operates. Legislation on employment, health and safety, competition and taxation are all examples of government policies that have an impact on employers and businesses. In addition, the government’s influence is now moving into new areas of the business environment such as environmental and ethical issues.


Economic


The economy and government economic policy are key areas of concern for all businesses, because of the impact which they have on consumer demand. Inflation, interest rates, the value of the currency, unemployment and the economic cycle will play their part in influencing the success of the business and in determining its actions. For example, car dealers may need to offer low-cost finance terms, or lengthened periods of repayment in order to attract new customers at times when interest rates are high.


Social


The characteristics of the population are important factors for business demand. Changes in the distribution or spending habits of consumers are constantly changing, making it vital that businesses are aware of these changes and act accordingly. For example, an increase in the number of retired people, many of whom have higher disposable incomes and are physically active, has produced a large and growing demand for specialist holidays. This relatively new sector of the market is referred to as the ‘grey economy’. Similarly, growth in the number of students in the UK has led to increased demand for rented accommodation in university cities.


Technological


Changes in technology offer businesses new opportunities, but also create new risks. A successful business must be ready to implement new procedures and train staff in their use. They also need to recognise situations where existing processes and machinery have become obsolete. The music recording industry has moved from tapes, through compact discs and on to internet downloads with increasing rapidity.


Successful and innovative businesses will already be preparing for the next product in such a cycle. For example, the Apple business is continually updating the specification of the ipod and the iphone, in order to generate new demand from customers to have the latest ‘must-have’ equipment.


Competition


The extent of the competition and the threat which it poses will have a considerable impact on the success of the business. It may be necessary to change the price or product range in response to competition; for example, the arrival of a ‘Sainsbury’s local’ store will have an impact on local shops and newsagents.


Culture


Businesses need to take account of the characteristics of the local population and their shopping habits. Food stores in Indian, Chinese or Pakistani neighbourhoods often do not sell dairy products because they do not form part of their customers’ diet.


Ethics


Businesses must be aware of the demand for ethical trading and its effect on customer demand (see Chapter 14). Television coverage of chicken farming in the UK by well-known presenters, like Jamie Oliver, has led to an increase in demand for free-range chicken in supermarkets.


Pressure groups


Pressure groups can exert pressure on businesses. Animal welfare organisations have put pressure on shops to sell meat products that are produced in humane conditions.


Environment


Environmental factors are becoming increasingly important. The high price of domestic fuel and an increase in awareness of global warming have led to a rapid rise in the demand for low-energy light bulbs and a consequent fall in their price.


Using the information


Once the audits are complete, the business needs to put the information into a summarised format. The usual way of presenting this sort of information is in a SWOT analysis (see Chapter 50) to show the strengths, weaknesses, opportunities and threats for the business.


In terms of formulating strategy, SWOT is only one of the tools that the business can use, and it is important not to use a SWOT analysis in isolation from all the other information which a business might gather. A SWOT analysis only gives part of the picture, and it should be viewed alongside information such as market research, ratio analysis and other financial data, sales figures and government economic statistics. For a business considering growth, Ansoff’s Matrix (see Chapter 11) could also be another useful tool to use with a SWOT analysis, because it would help the business to consider the best direction for changes to achieve growth.


It is also important to remember that a SWOT analysis is not an end in itself. It is something for the business to use in determining objectives and strategy. For example, the knowledge that new competition is entering the market could lead a business to look at different opportunities in its environment that may help it to survive and grow. It is also vital to remember that the usefulness of all of this planning will depend on the information being gathered in a way that is unbiased and objective. To achieve this, it may sometimes be necessary for the business to use an outside agency.
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